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~ Part-A (General English)

Questions :1-100 | Total Marks : 150

1.  Direct to Indirect Speech :

He said to Mr. Y, “Mr. Z will leave for his native place tomorrow”.

(A)

B)
©)

i

(E)

He told Mr. Y that Mr. Z w111 leave for his native place
tomorrow

He told Mr. Y that Mr. Z left for his native place the next day

He told Mr. Y that Mr. Z would be leavmg for his native place
tomorrow’ : - -

He told Mr. Y that Mr. Z would leave for his native place
the next day : -

Answer not known

2.  The positive form of Ramesh is the strongest man in the village is

®)
®)
(©)
27
(®)

3. Fill in with the correct‘phrase

Ramesh 1s a strong man in the v1llage

Ramesh is a stronger man in the village

Ramesh is the stronger man in the village
No other man in the village is so strong as Ramesh

Answer not known

ye

The airhostess instructed the passengers to fasten the seat belts
 during the

A)

E)

(E)

shut down : . (B) work out
take off | (D) warm up

Answer not known
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4.  Which of the following sentences have gerunds?
(a) They began playing
(b) They began to play
(c) We prefer to take tea
(d) | We prefer taking tea
@ @60 @ ® 00
© @, © | By @), @

(E). Answer not known

5. Fill in the blank With a suitable infinite :

He is supposed for his examinations now, but he is

wasting his time relentlessly.

(A) have been studied \,@EY to be studying |
(C) to study (D) has been studied

(E) Answer not known

6.  Fill in with the correct regular verb :

“Both the officer and the worker the affected areas”.
(A) forgot = BT visited
, (C_). went | , (D) saw

(E) Answer not known
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Transform the following exclamatory sentence into an assertive
sentence : '

“What a spectaculé_r goal!”

| (a) Was it a spectacular goal?
(b) The goal was spectacular |
) It was a spectacular goal.

(d) Why the goal was spectacular?
@ @ | ®) ()
Ve (© - D)@

(E) Answer not known

‘The negati\}e form of “The Mission is accomplished’ is

(A) The mission is not over

(B) The mission is not finished

(C) The mission is not completed
\‘Df The mission is not accomplished

(E) Answer not known

| “Cannot you find me some place convenient for laying my eggs” —
the statement form of this interrogative sentence is
(A) ‘Pro'vide me some cenvenieht plabe for laying my eggs
(B) Which is the converiient place for laying my eggs‘
(C) This is the convenient place for laying my eggs
\(B‘)’ Search a convenient place for 1ay1ng my eggs

(E) Answer not known

5 ' CCSEIVGE/2025
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10. Choose the correct type of sentence :
You leave today.
\'Qr)’ Imperative (B) Inter']fbgative
(C) Declarative (D) Exclamatory

(E) Answer not known -

11. Select cofrect active form for the sentence
“Our army has been defeated by the enemy”.

(A) The enemy was defeated our army '

(B) The‘ enemy was defeated by our army
M The enemy has defeafed our army |

(D) The enemy had defeated our army

(E) Answef not known

12.  Find out the correct tense form of the verb from the options given

below :
I‘g‘ot up early and a shower.
| (A have . | (B) am having
\,GCY | had | (D) was having

(E) Answer not known
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13. Which of the following Britishv English words are correctly paired
~ with the American English words?

(1)
%)
(3
(4)

A)

(©)
®)

Spanner —
Hoover -
Bollocks —
Hairslide —
(1) and (2)
(2) and (3)

Wrench
Nonsense
Vacuum |
Barrette : .
87 (1) and (4)

(D) (3) and (4)

Answer not known

' '14. PDA stands for

ey
(B)
(©)
D)

(E)

15. Match the folloWing :

(a)
(b)
- (©
(d)

(A
(B)

Personal Digital Assistant

Personal Development Agency

" Personal Data. Authority

Personal Data Array

Answer not known

Column A

Careful
Teach
Writer
Kindness
@ () (o)

1 2 4
3 1 2

ver 4 1 2

D)
(B

2 1 3

Column B
1. Verb formed from a noun
2. Noun formed from a verb

3. Noun formed from an adjective
4. Adjective formed from a verb
(d)

3

i

3

4

Answer not known
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16. Choose the correct meaning of the given phrasal verb in the context
of time : '

Run out

(A) = Time given for something to be done
- (B) Insufficient time
V(»@) Exceed the allotted time

(D) Finish before the given time

(E) Answer not known

17. Match the following idioms in Column A with their meanings in

Column B:
Column A Column B
(a) Fall out to collapse

1
(b) Fall for 2. to come into collision
(c) Fall flat 3. yield to its charms
(d) Fall foul of 4

@ ® @© (@
Ve 4 3 1

, 9
(B) 2 4 3 1
(C 1 3 4 2
D) 2 3 1 4

(E) Answer not known

to quarrel

18. Find out the suitable ‘word for the underlined collocation in the-
following sentence.

It rains cats and dogs. |
(A)  Strongly | ) Heavily
(C) Speedily (D) Fast
(E) Answer not known
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19.

20.

Read the passage and replace the underlined Words with the1r
_antonym given in the options.

Ram is a (1) robust
(3) odious behaviour and habits had an effect on his physical and
mental (4) ag ilityr which made him to look (5) gaunt.

(@
(b)
(©
(d)
(e)
(A)
(B)

o)

- (E) Answer not known

Pleasant

Awkwardness |

Portly

Weak
Poor

person born to (2) affluent parents. His

(1)-(©) (2)-(e) (3)-(a) (4)-(b) (5)-(d)
(1-(a) 2)-(d) (3)-(c) D)-(e) (5)-(b)
VO (D-(d) 2)-(e) (3)-(a) (4)-(b) (5)-(c)
(1)-(b) 2)-(e) (3)-(c) (4)-(a) (5)-(d)

Which of the followmg synonyms are incorrectly paired?

)
2

-3

(4)
(A)
©)

- ®

Gregarious  —

- Glutton -

Groggy -

‘Gourmet = —

(1) and (2).
(3) and (4)
Answer not known

A person who walks unsteadlly

A person who eats too much

A person who likes to be with others
A person who enjoys food

@y (1) and (3)
(D) (1) and (4)

21. - An interchange of two elements in a phrase or sentence from a I_nore
logical to a less logical relationship:

Wff Hypallage

©)
(E)

Metaphor
Answer not known

(B) Malapropism
(D) Simile
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22. Text _' : . E-governance can empower citizens to participate in
“climate action by providing platforms for feed back,

collaboration and reporting environmental concerns.

Question - :  How can e-governance enhance citizen engagement

in climate change initiatives?
(a) Providing online forums for citizens to share ideas.

. (b) Enabling citizens to report illegal dumping‘ or pollution
" incidents. | | ’

(c)  Offering online tools for citizens to calculate their carbon foot

print.

(d) Replacing all traditional in-person meetings with online

surveys.
(A Only@) &7 (@), (b) and (©)
(C) * Only @) | (D) All of the above:

(E) Answer not known

23. Maria always carries an umbrella in her bag. Today, despite clear
skies, she brought her umbrella to work.

What can be inferred abéut Maria?

(A) Maria forgot to check the weather forecast

(B) Maria is superstitious about umbrellas
\'Q@f Maria expects it to rain later |
(D) Maria doesn’t like sunny days

. (E) Answer not known
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24. Rearrange the jumbled sentences :

(a)
(b)
©

@

()

Taking a few steps back, the fox jumped and just missed the
hanging grapes. ' o ' |

Finally, giving up, the fox turned up his nose and said “They
are probably sour anyway” and proceeded to walk away.

One afternoon a fox was walking through the forest and
spotted a bunch of grapes hanging from over a lofty branch..

Again the fox took a few paces back and tried to reach them |
but still failed. | |

“Just the thing to quench my thirst”, he thought.

@ OO EC

B ©@ @@ b
© @ © ® @ @
D ®©E @@

" (E)' Answer not known

25.  What type of letter is used to request information about a product or

service?
(a) Inquiry letter |
(b) Sales letter
I(c) Personal letter
- (d) Resignation letter o \ '
@ | B o
© © EONCY

(E) ~ Answer nbt known

11 R  CCSEIVGE/2025
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26. Scenario : A government agency is updating its website to include

downloadable forms. -They want to ensure the
 instructions for completing the forms are clear and

professional.

Question : Which of the following instruction best reflects the

(a)
(b)

©

(d)

(A)
(©)

B)

principles of official correspondence?

Just fill this out and send it in, no big deal.

You gotta put your info here, then sign there and you are good

to go.

Please complete all sections of the form using legible hand

ertlng or typed text. Submit the completed form along Wlth

the requlred supporting documentation.

Write your name and address, then do the rest however you

want.
(@and @ | P only (©
(b) and (d) 3 (D) only (d)

Answer not known

27. Find the suitable words :

The

(A)

©)
(E)

clouds signaled an approaching storm.

Heavy " \(B{ Menacing
Impurity . (D) Dark

Answer not known
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28. Scenario : Ms. Priyanka is seeking assistance and information . .
regarding services for differently-abled individuals in

29.

the state.

Match Ms. Priyanka’s needs with the appropriate department.

- Column A _ }
(Ms. Priyanka’s needs)

(a) Ms. Priyanka needs to 1.

obtain a disability
certificate and access
related benefits

(b) Ms. Priyanka seeks 2.

information about
educational scholarships
and vocational training
programs for her
differently-abled child

-‘ (c) Ms. Priyanka wants to 3.

report accessibility
1ssues in public buildings
and transport '

(d) Ms. Priyanka is looking 4.

for information

on self-employment
schemes and financial
assistance for differently-
‘abled entrepreneurs

@ (® © @
A 1 2 4 3
B 2 1 4
C) 3 4 1 2
D 4 2 3.1
(E) Answer not known

Fill in the blanks :

Column B
(Departments)

Department of social welfare
and women empowerment

Directorate for welfare of the
Differently-abled
Department of labour and

employment

Department of municipal

- administration and water

supply

| refer to a situation where borrowing money from banks,
and other financial institutions becomes difficult, often due to rising
interest rates on a general economic downturn .

V&) Credit squeeze
(C) Credit control
(E) Answer not known

13

(B) Credit transfer

(D) Credit creation

CCSEIVGE/2025
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- 30. The process of hiring and managing employees is called

(A) Technical Management |
(B) Performance Management
' w -Human Res.ources Management
(D) Evaluatidn Committee
(E) AnsWer not known
31. Passage:  Smart home technologies aim to simplify daily life.

They offer increased convenience and efficiency. User-
friendly interfaces are essential for widespread
adoption. The goal is to empower individuals through

technology.

Question : Which of the following statements best describe the

@
®)

©
@

W
©
(B)

author’s purpose in the passage?

to criticize the complexity of smart home technologies
to highlight the benefits of smart home technologies |
to emphasize the importance of ‘ﬁser-friendly interfaces

to advocate for the empowerment of individuals through

technology
(b), (@), (d) W ), (©), (@
(@), (¢), (d) - (D) (a), (b), ()

Answer not known
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~ 32. Passage: A solar eclipse happens when the moon blocks the sun.
This causes temporary darkness. It requires the Sun,

Moon and Earth to align. The result is a shadow on

Earth._

Question : Which of the followi'ng statements -accurately define or

explain terms from the passage?
a A solar eclipse is when the Earth blocks the Sun.
(b) | A solar eclipse is when the Moon blocks the Sun.
(c) Aligﬁment of the Sun,. Mobn-'and Earth is required

(d) A shadow on Earth is a result of a solar ec_:lipsé
@) ®), (), @) v ), ), @)
© @, ©, @ | D) @, ®), (@), ©

- (E) Answer not known

33. Complete the follbw‘ing sentence, choosing the appropriate word

from the options given.

I}can the presence of something rotten in the room.
\M Nose out _ (B) Nestle up
(C) Nail somebody down (D) Nuzzle up

(E) Aﬁswér not k‘nownv

()] .15 | CCSEIVGE/2025
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34. Match the words in Column A with their suitable synonyms in
Column B :

Column A

(a) dissonance

(b) esoteric

" (¢) lampoon

(d) idiosyncrasy

(a)
A 1
B 4
€ 3
M) 2
(E)

4

(b)

2

3
2
1

©
-8

2

1.‘
4

(d)

SRR

Answer not known

A o

Column B

 abnormality
mockery

abstruse

: discord

35. In the given dialogue, some questions are underlined: Identify their
type and mark ‘A’ if it is a strong question and ‘B’ if it is a weak

question.
Anu : Dear friends, how can we celebrate women’s day?
Malar : Please clarify. Where and how are we going to celebrate?
Anu : It must be celebrated in a grand 'manne‘_r.
Malar : Shall we identify the venue? |
Anu  : JKM Palace.
Malar : Will it be available?
Anu : Yes.
WO AABB (B) AB B A
(C) ABAB D) BB AB

(E) Answer not known

CCSEIVGE/2025
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36.

37.

Passage: A new social media platform gained rapid popularity
among teenagers. Concerns arose about data privacy
and the spread of misinformation. Despite these issues,
the platform provided a space for creative expression
and fostered online communities.

Question : ‘Based on the above scenario, Wthh of the following

-statements are most likely to be true?

(a) The platform 1s universally considered harmful.

(b) The platform has both positive and negative impacts.

(¢)  The platform is primarily used for educational purposes.

(d) There are significant concerns about the platforms ethical

' 1mphcat10ns

(A) both (a) and (b) \,eB‘f both (b) and (d)

(C) both(@a)and(d) = (D) both (b) and (c)

(E) Answer not known

Passage: The city’s rapid expansion led to increased - traffic

¢ congestion and air pollution. Public transport systems
were overwhelmed, and green spaces were replaced by
concrete structures for the growing population.
Residents complained of rising stress levels and a loss of -

~community feeling -

Question : Based on the glven passage which of the followmg
-statements 1s most likely to be true?

(@) The city is focused on preserving its historical landmarks.

- (b) The city is experiencing negatlve consequences of unchecked
growth.

(¢) Residentsare actlvely involved in urban planmng decisions.

(d) - The city’s infrastructure is strugghng to keep pace with its

population. -

(A) both (a) and (b) (B) both (a) and (d)

@~ both (b) and (d) (D) both (b) and (c)
(E) Answer not known S x
17 ~ CCSEIVGE/2025
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38. Passage

Question :

The advent of remote work changed employmenﬁ.
Seamless collaboration rose with technology, Flexibility
increased, yet isolation concerns grew.

Which of the following statements accurately reflect the.
meaning of the underhned word(s) as used in the
passage? '

(a) ‘advent’ means the gradual decline of

(b) ‘seamless’ means smooth and without interruption

(c) ‘flexibility’ refers to the ability to adapt

(d) ‘isolation’ means the state of being alone
A) (), (b), (©), (d)
(B)  (b) and (c)

ver ), (), @

(D) only (d)

(E) Answer not known

39. Passage :

Question :

The relentless surge in global temperatures paints a
stark picture of our planet’s future. Melting glaciers,
raging wildfires and unprecedented floods serve as grim
reminders of the escalating crisis. A sense of urgency
pervades scientific reports, echoing the desperate need
for immediate and decisive action. The window of
opportunity to mitigate the catastrophic effects of
climate change is rapidly closing, leaving behind a
legacy of irreversible damage

Which of the following words and phrases contrlbute to
the mood of the passage?

\A Relentless surge
(B) Paints a stark picture

(C) Legacy ofirreversible damage
(D) Balanced and calm
(E) Answer not known

CCSEIVGE/2025
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- 40.

41.

brauger sieumLar SflEQs @S]mmurrqas @a;rrmrq@‘mgrrasmrm

Choose the correct English sentence from the options given, Wthh

best conveys the meaning of the sentence below

| (A) Did you play cricket along with him?

B)

Had you played cricket along Wlth hlm‘?

\}@f Were you playing cricket with him?

D) You played cricket along with him?

(E) Answer not known

Sehtence :  The meeting will have been scheduled by the time we

arrive.

Question : Which of the following Tamil sentence best conveys the

(a)
(b)
()

(d)
(A)
©)
(E)

meaning of the given sentence?
BT euhLCUTE dnl L ib QLI_.LIS]L_L'IQ@LD.
B euHLELITG gal L ib QLLL&Lq@uunr’re;dT.
B @i®0EUNg gnl L i QLLL&QUQL@ AIGEICTS

B eumbGLTg ‘am'__l_Lb S LB Epriser.

®ad@ oy ©
only@ (D) enly(@

Answer not known
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42. Passage : The company needs to ‘develop’ a new strategy. They

want to ‘develop’ the land for a new factory.

Question : Which of the following Tainil translations are

(a)
(b)
(C)

©
D
(E)

appropriate for the word ‘develop’ in the given
sentences?

QUOTITSS

2 (HeUT&HS

- Cuobu@ss

asl_lq_Qlu@uu

\yr)’ Both (b) and (d)

Both (b) and (c)
Both (a) and (c)
Both (a) and (d)

Answer not known

43. Which of the following statements are incorrect?

()

@

3)
4)

v
®
©
®)

(E)

The play, “The Tempest” was written between 1610 and 1611.
“The Tempest” was not based on any actual 1nc1dent
Shakespeare had penned 10 sonnets.

Prospero dismissed Ariel from his service before he left the
island. '

(2) and (3) are inéorrect
(1) and (4) are incorrect
Only (2) is incorrect

(1) and (3) are incorrect

Answer not known
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44. Match the categories in Column A with the WOrds in Column B :

A | B
(a) Abbreviations 1. Bat, Bat
(b) Acronyms 2. Aloud, Allowed
(¢) Homonyms - 3. WHO, PAN |
(d) Homophones 4. ATM, CEO

@ B O @
@

3 "4 2 1
VB 4 3 1 2
© . 2 1 4 3
D 1 2 3 4

(E) Answer not known

45. Which are the following = statements are true  about
“Sir. C.V. Raman™? |

(1) Sir. C.V. Raman was an Indién physicist.
-(2)  Sir. C.V. Raman was honoured with the Bharat Ratna Award.

(8) Sir. C.V. Rarh-an’s birthday is celebrated as “National Science

2

Day”.
(A) (1) only
B) (1) and (3) only
W@ (1) and (2) only
(D) (2) and (3) only
(E) Answer not known

o | 21 ~ CCSEIVGE/2025
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46. Choose the correct option :

What did the young'seagullldo, when his parents beckoned to him?

(1) He began to swoop
(2) He screamed with fright and attempted to rise again
(3) He answered with another scream

(4) He sank his feet into the gréen sea
(A) (1) and (2) | (B) (2) only
(© Wand@ \VAD) (2) and (4)

(E) Answer not known

47. Identify the figure of speech in the following poetic line :

‘They growl at the rain and they
growl at the sun’.
(A) Epithet
(B) Contrast
véC) Anaphora
(D) | Oxymoron

(E) Answer not known

48. Which is the largest planet in the Solar system?

(A) Mars
(B) Saturn
(C) Uranus

\}U{ Jupiter

(E) Answer not known
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49. Choose the correct ‘Synonym’ by matchingv Column ‘A’ and

Column ‘B’ :
Column A - Column B
(a) strife 1. futile
(b) endure 2. disagreement
(c) vain 3. undergo |
(d) accents 4. emphasise

@ O @
@& 1 2 3 4
® 3 1 4 2
4
3

o 2. 3. 1
o 4 2 1

(E) Answer not known

50. Identify the flgure of speech employed in the followmg lines.

Born of despalr W1th a sudden spring.
(A) Anaphora \(‘B{Alhteratmn
(©) Assonance : (D) Consonance

(E) Apswer not known

51. Choose the correct answers.

R.L. Stevenson’s famous works are

(i)  Treasure Island

(i) ‘The Lamb’ and ‘The Tiger’

(111) Kidnapped:

(iv) The Jungle Book

(A) (11) only e ' (B) (1) and (iii) only
Ve (@) and (i) only (D) () and (iv) only

(E) Answer not known

® | | 23 CCSEIVGE/2025
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52. Choose the suitable answer :

If a writer uses a word or phrase in a special way, he/she can write
~1tin
© (a) Parentheses

(b) Quotation marks

(¢) Square brackets

(d) Dash
@, @ B o)
) (o) S D) (@)

(E) Answer not known

53. Which of the following sentences is a correct synthesis using an
appropriate conjunctive adverb?

Sentence 1 : The assignment was due last week.

Sentence 2 : We did not submit it on time.

(a) The assigninent was due last week; consequently, we did not’
submit it on time

(b) The assignment was due last week, so we did not submit it on
time
- (¢) The assignment was due last week, because we did not submit

1t on time

: (d) The assignment was due last week and we did not submit it on

_ time
VO @ (B ®)
© © | S D@

(E) Answer not known -
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54. Identify the Complex Sentence :

(A) He was tired and so he could not walk
(B) - He was too ti’red‘to walk

\g,G’)/ He was so tired that he could not Walk
() * Being tirved, e -eould nob walk .

>(E) Answer not known.

55. Which of the following statement has the correct questioﬁ tag?
(a) I needn’t play, needn’t I?
(b) Let’s play, shall we?
(¢0 TIam older than you, am I?

(d) He was asleep, did he?

@ @ R 2%
© © o @

(E) Answer not known

56.. - Identify the correct option for the given question :

A pafticiple 1s a/an | formed from a verb.
(A" Adjective  (B). Adverb
(C) Noun - | (D) Preposition

(E) Answer not known

o | 25 _ - CCSEIVGE/2025
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57. Which of the following sentences uses both a main verb and an
auxiliary verb? |

(a) She danées beautifully

(b) They are singing

(¢c)  She reads fas’»c’

(d) Students eat dinner togeth_er.

@ @ B
© © D) @)

(E) Answer not known

58. Choose the correct appreciative statement for the following
1mperative :

“Take time to review your work”.

(A) Reviewing your work is essential

(B) Make sure yoﬁ review your work thoroughly

(C) 1It's impoftant to réviéw your work

@?/ I value the effort you put into reviéwing your Wdrk ,

(E) Answer not known

59. Thelinterrogative form of ‘Shut the door’ is

| @()/ Who will shut the door? . (B) Who shut the door?
- (C) How the door will shut? (D) You shut the door.

(E) Answer not known
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60.

The imperative form of the following statement ‘I am lonely’ is

V@fr Have pity on my loneliness

(B)
©)
D)

(B)

I am lonely
I have no company
I have no friends

Answer not known

61. What an ugly picture! is an

62.

\}Kr Exclamatory sentence

B) ‘As.sertive sentence

(C)‘ Negative sentence

(D) Interrogative 'séhtence ,

(E) Answer not known

‘Don’t be angry with us God’ - is an _ _ sentence.
(A) Affirmative %ﬁmperatiVe
(©) Interrogative (D) Exclamatory
(E) Answer not known ‘
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63. Which of the following does not exhibit subject — Verb Agreement?

V® I wonder if either of the boys were present
(B) Much of what you say is correct o
(C)  The pool and lotus is a beautiful building
(D) Heisone of those men who hate smokmg _
(E)  Answer not known

64. Which of the following sentences uses the conjunctions to connect
the clauses correctly?

(A Although 1t was raining but we demded to go for a walk

\‘BT She wanted to go for the concert yet she had to flnlsh her
homework fast

(C) He studied hard for the exam so because he wanted tJo achieve
a high score

(D) Neither the Manager nor the employees was aware of the
T changes in policy -

(E) Answer not known

65. Idehtify the figure of speech of the following phrase. |
He has just got some new wheel. ' |

(A) Paradox , - (B) Personification

\}Gﬁ/ Synecdoche (D) Imagery
(E) Answer not known |

66. Which of the followmg is an action-based and sport related
compound word that involves movement? .

(a) Foot print
(b) Skateboard
(¢) Back pack
(d). Lifeguard

@A) Omy(@ . B Only ().
(C) Both (a) and (b) (D) Only (d)

(E)  Answer not known
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67

68.

69.

Choose the correct plurals given in the options ahd fill in the blanks.

(1) The_ (1) is for more people to work part- -time in the future.

(2) Wearehaving _ (2) casserole tonlght
(3) Smoking is not allowed on the . (3)

(4) We discussed the success _ (4)  together

Options :

A B C D
(1) Prognosis Prognoses Prognosus Prognos
(2) Tuna Tunas - Tunae Tunii
(3) Premisis Premisus Premises - Premisas
(4) Criterion  Criteria Criterius Criterian

(A) (1)-B (2-B (3)-A -(4)—‘A
B) 1A @-C 3)-B “4)-A

© 1O-C (2-A (3-A (9-B

) D-A @-A (3)-C (4)-B
(E) Answer not known

Which of the followmg word is 1ncorrect in the context of the
sentence?

“After the team’s success, the coach felt a great sense of
for h1s player’s performance”.

(A) Exhﬂaratmn (B) Exultation
(&> Exasperation (D) Ecstasy

(E) Answer not known

Fill in the blanks with correct spelling.

»

“The restaurant offers a wide variety of delicious

v Victuals (B) Victuls

(C) Victuels (D) Vistuals
(E) Answer not known » |
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70. Sathyan. knew he had the trail sometime ago, but

couldn’t remember exactly when he hady ' __it.
(a) Passed
(b) Past

(¢ Pause

(d) Paws

D) (d) and (©)

(E) Answer not known

7 1. What is the plural form of ‘Céctus’ ih'English? (Not the Latin Form)

(A) Cactuse

\}gy Cactuses

(C) .Cacts
(D) Cactose

(E) Answer not known
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72.

73.

Match the one word substitute in Column A with a suitable

explanation in Column B and select the correct answer from the

code given below :
Column A Column B

(a) Amnesia A study of disease

(b) Insomnia A continuous talker
(c) Loquacious

(d) Pathology

Loss of sleep

-l

Loss of memory.

@ ® © @
@A 3 4 1
VB 4 3 2
© 1 4 3
M 1 2

w I\ I A

4

(E) Answer not known

' Fill in the blank with suitable word.
I~ my puppy-in‘ thé '
(A) bathe, mug

(B) wash, bucket

m bathe, tub

(D) Dbath, tub

(E) Answer not known
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74. A student wishes to suggest an improvement to the college library
resources. The best way to phrase the request to the librarian is :

(a)
()
(©)
(d)

(A)
©)
()

The library has no good books
You_should buy more books
The_library is terrible

I've noticed that the library’s collection lacks recent
publication in the field of Artificial Intelligence. Would it be
possible to expand the collectlon with my researched- hst of
latest publications

@  ®w
© W@

Answer not known

75. In the following sentence ordering, the first (S1) and the sixth (S6)
sentences of a passage are already provided. The middle four
sentences are shuffled up; they are labelled P Q R and S. Rearrange
these four sentences and choose the correct order

51

P:

S6 :

(A)
(©)
&)

‘Once, a renowned writer, decided to unravel the secrets of an

ancient manuscript.

This however, exposed that the writer had intentionally
modified a few passages, - leaving room for multiple
interpretations.

Apparently, the discovery sparked' a heated debate among

~experts.

The manuscript, filled with enigmatic knowledge, had
perplexed generations of researchers.

Moreover, the writer delved deeper to unravel the cryptic
meaning and symbols.

Eventually, the writer's quest for knowledge resonates with
the multiple interpretations of experts.

S1,S,R,Q,P,S6 B) S1,P,Q, S, R, S6
S]-Ay P7 R: Qi S) S6 . W) Sl7 R, S: P’ Q, S6

Answer not known
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76.

7.

Write a letter to the editor of a journal about the stagnant rain
water issue in your area. Write the format of the letter.

(a)
(b)
(c)
(d)
(e)
®
(g
(h)

(A)

o

©)
D)

®)

Salutation
Date

‘Receiver’s address

Signature

Sender’s address
Subject

Body of the letter
Complementary close

®, (), (), (@), (a), (), (), (e)
(), (0), (0), (a), (), (g), (), (d)
(), (), (), (©), (@), (), (b), (e)
(@), (), (b), (), (g), (d), (), ()

Answer not known

Scenario: A citizen has sent an email to a government agency

requesting information about a public program. The
agency’s policy is to respond with official letters.

Question : Which of the following actions best demonstrates

(a)
(b)
©)
(d)
(A)

(E)

adherence to official correspondence procedures?

Replymg to the email with a brlef formal response.
Calling the citizen to prov1de the 1nformat10n over the phone.

Drafting a formal letter on letter head, 1nclud1ng all necessary "
elements and mailing it to the 01t1zen

Forwarding the citizen’s email to another department W1thout
a response -

() only  ® ©only
(a) and (c) (D) (b) only
Answer not known |
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78.. Money set aside by a legislative: body for some government
expenditure is a/an _ | '

W Appropriation , - (B) Bipartisan

(E) Answer not knoWn

79. Scenario :

(D) Amalgamation

A citizen has contacted a Government office
seeking clarification on a new policy.

Instruction(s) : Match the general term used by the citizen with
‘the appropriate official term the citizen should
use.
Column-A Column-B
(Citizen’s General Term USage) (Appropriate Official Term
' | ' : Usage)
(a) Can you tell me how to | 1. Is there a procedure . to
fix this form? . - appeal this decision?
(b) Ineed togeta cdpy of 9. What are the regulations
my records . for this program?
(c) What are the rules for | 3., Can you tell me how to
this program? : rectify this form?
@ Is there a way to appeal - 4. 1 need to obtain a copy of

this decision?

(A) 2

B) 1
C) 4

BT 3

1.
2
3

4

my records

@ ® © @

3 1
4 3
1 2
2 1

(E) Answer not known
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80. The term “Compliance”lmeans ‘
V(éf)’ Adhering to laws, regulations and policies
B) Adhering the violations
- (C) Denial '
D) Adhéring the differences

~ (E) Answer not known

81. Match the term in Column A with its correct definition in Column B :

Column A ' ~ Column B

(Terms) _ (Definitions)
(a) 'Appropriation 1. a system of government where decisions

are made by state officials
(b) Bureaucracy 2. a person employed in the public sector

~ (¢) Jurisdiction 3. the official power to make legal

decisions and judgments

(d) Public servant 4. money set aside for a specific purpose

@ ® © @

@ 1 2 4 3

B 1 -8 2
© 3 4 2 1
™ 2 3 4 1

(E) Answer not known
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82. Passage: E-governance reduces physical paper work. Online data

storage enhances security. This facilitates faster service
delivery. Increased digital literacy is essential for
widespread adoption.

Question : Which of the following conclusions can be drawn from

(a)
(b)
(©)
(d)

(A)

v

(E)

the passage?

- E-governance increases physical paper work

Online data storage improves security.
Increased digital literacy is crucial for e-governance success.

E-governance slow down service delivery

@ 0 B OO
), ©) L D @@

Answer not known

83. Passage: NASSCOM and similar global associations both

represent tech sectors. NASSCOM focuses on India,
‘others on regional or international markets. Both
advocate the growth of the industry. NASSCOM’s
influence is primarily within India, others have a
broader reach. ' -

Question : Which of the following statements accurately compare

(a)
(b)
(©)
(d)

(A)

(©)
(E)

NASSCOM and similar associations as described in the
passage? '

NASSCOM and global associations represent different sectors
NASSCOM and global associations represent tech sectors

NASSCOM’s influence is primarily within India

Global associations have limited reach

(@) and @) - | B () and (©
(c) and (a) (D) (d)and ()

Answer not known
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84. Complete the sentence below, choosmg the su1table pair from the

given 0pt1ons

~ The are 1nsuff1c1ent to 1mplement the new educat1on policy

1n rural areas.
(A) Wash out

M Ways and Means
(E) Answer not known

(B) Ways and Vows
(D) Built in system

~ 85. Passage : The bustling market place was a symphony of sounds -

o . - and smells, vendors called out their wares, a mix of
spices filled the air and the chatter of customers created
a lively hum. Colourful textiles hung from stalls and
fresh produce was piled high.

Question : Match the description to the element of the market ‘

place.

Match the various aspects of a market place in: Column A, with their

purpose in Column B :

Column A
(a) Vendors calling out
- their wares
(b) Spices filling the air
- with their smell
(c) Chatter of customers

(d) Colourful textiles
hanging from stalls

@ ® © @

@A 1 4 3 . 2
\J,BT 4 3 1 .2
© 2 1 4 3
® 3 1 2 4
(E) Answer not known

AColumn B
creates a lively hum

appeals to the sense of sight

appeals to the sense of smell

indicates commerce and trade

37 CCSEIVGE/2025
" ' [Turn over



86. The Vibrant city (stfeets were alive with the sounds of laughter and

music as people celebrated the annual festival. Colourful -

decorations adorned the buildings and food stalls offered a variety of

delicious treats from different cultures.

Which question is most suitable based on the given passage? \

(A)
(B)
©)

\par)'

(B

What colours were chosen for the decorations in the city? '
What time do the fireworks start?
What is the name of the annual festival being celebrated?

What type of food is being sold at the food stalls in the
festival? ‘

Answer not known

87. Which of the following questions cannot be 'cat_egorised under the

‘type “weak questions™?

(1)
)
3)
@
6)

@A)

B
©)
D)
(B)

Are you sure you are okay?

What is your biggest weakness?

Ever had a crush? | |

Does she have a qlialifying degree for this job?

How will you repay your loan, without a job?

(1) and (3)
(2) and (5)
(3) and (5)
(2) and (4)

Answer not known
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88. The ocean is a vast mysterious place, home to countless species of

89.

marine life. From colourful coral reefs to deep sea creatures, the ‘
underwater world is full of wonders Waiting to be explored. As we
learn more about the ocean, it becomes clear that protecting this

vital eco system is essential for the health of our planet.
Which question is related to the given passage?
(A)  What type of boats are commonly used - for fishing in the

. ocean?

\gB)/ Why is protecting the ocean ecosystem vital for the health of

our planet"
(C) What is the name of the deepest part of the ocean?

(D) Which ocean is known for having most shipwrecks?

- (E) Answer not known

A small town of Brooksville is famous for its annual harvest festival,
~which celebrates the local formlng community. The festival features

pumpkin carving contests, hayrides and a petting zoo.

Which of the following activities is ‘NOT mentioned’ as part. of the

festival?

(A) Pumpkin carvihg contests
(B) Hayrides

(9‘)/ | A talent show

(D) A petting zoo

(E)  Answer not known
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- [Q.No. 90-92] Vitamin C is an essential ingredient for human
beings. It is required for the synthesis of intercellular cement
“collagen” which is respohsible for keeping various cells of the
human body together. As an oxidant, it acts like a cop in the body,
apprehénding the rowdy molecules called free radicals.

- The r_iéhest source of Vitamin C is amla. The other sources are
lemon, orange, papaya, pineapple, cabbage, cauliflower, green peas
and tomato. While cooking above 70°C Vitamin C gets destroyed.

90. Vitamin C is impo_.rtant for us because_ 1t is, o
V(A)' Réquired for intercellular cement collagen
(B) Required for everyday activity :
(©) RéqUired for digestion
(D) Requifed for metabolism

(E) Answer not known

91. What does the word ‘Cop’ mean in the given context?
(A) Doctor - . - (B) Nurse
(C) Nutritionist P Police

(E) Answer not known -

92_. What is amla rich in?
) VitaminA (B) VitaminB
@Y Vitamin C , (D) Vitamin D -

(E) Answer not known
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93. prewer wree 6 wewll wWsd 7 wenll Uy (rf,rreirrraﬂrﬂéaQasl'_‘ ellenarwimg &
Q& meriq (L1 GLiGhT. |
Choose the correct translation of the sentence given from the

options listed.
\M I will be playing cricket between 6 pm and 7 pm tomorrow
evening. ' | |

'(B) I am playing cricket between 6 pm and 7 pm tomorrow
evening.

(C) I will have been playing cricket 6 pm to 7 pm tomorrow
evening. .

D) I would have been playing cricket between 6 pm and 7 pm

' tomorrow evening. ] :

(E) ~ Answer not known

94. How much will be the accuracy level of real-time language -

- translation within five seconds of receiving the input?

@A) 80%
. ® 100%
ey 85%

D) 96%

| (E) Answer not known
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95. Fill in the blanks using the suitable words given in the options.

The old man had been suffering with a severe nervous disorder. He
(1) ~ in pain and _ (2) . However _ (3) while walking. On
. seéing his old friend he was __(4) and _ (5) him with hope to get

some help.

(1) tottered over

(2) startled

(3) grunted

(4) approached

(5) stumbled - |

@A) (), (3), (), (1), @) B) @), (5), (3), (4), (D)
© 3,61, @, @ V@) ), D), (), @), @
(E) Answer not known |

96. Which of the folldwing statements are true about “Turtles’?

| o
(2)
(3)
(A)
B)
D)
(E)

Sea Turtles live their life entirely in the ocean.
There are six species of turtles in the world.

Turtles come ashore to lay eggs.

(1) only

(2) and (3) only
(1) and (3) only
(1) and (2) only

Answer not known
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97.

98.

Fill in the blanks using the words given in the optiovns.'

Sachin often tried to

players. He wanted to

the remarks in his

Achrekar Sir’s

(1) Pursue

(2) Emulate

~(3) Farsightedness
(@) Stride

A) (@1),®),®, )
© ©3),@,Q),®
(E) Answer not known

the mannerisms of his favourite
cricket seriously. He had to take

. On the whole, he could admire

»@Ef @, 0, @, @

D) (4), (2) W, @)

Choose the right matches among these :

_— AP.J. Abdul Kalam

(1) Leechal Shoes
(2) Blee Wétch — Nupura Kirloskar
(3) IGEST —  Anil Prabhakar
-4 | Li.ght Weight Prosthetic Shoes. — Krispian Lawrence
(A) (1) and (3) are correct
(B) (1) and (2) are correct
\SQ‘), (2) and (3) are correct
D) (3) and (4) are correct
(E) Answer not known
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99. Identify the figure of speech in the poetic lines given below :

Down in the hill sat the little doggie Nell
There she dillied and she dallied all

Day, Day, Day

(A) Assonance
\,(65 Consbnzince

(C) Alliteration

(D) Anaphora

(E) Answer not known

100. Identify the figure of speech in the lines given below :

No time to see, when woods we pass,
Where squirrels hide their nuts in grass.
No time to see, in broad daylight, |
Streams full of sfars, like skies at night,

No time to turn at B‘eauty’s glance,

(A) Consonance

B) Assonénce |

% Anaphora

D) ‘Personifi.cation

(E) Answer not known
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LES-2 — Quig sifley () LES-G — Spardlay
LHMID LOETESETHE, BT H 6 |
Part-B — General Studies & Part-C - Aptitude and

‘Mental Ability
AerméEer : 101-200 | Glorgs wdlCuerser : 150
Questions :101-200 Total Marks : 150
101. Match the following : | | . '
. (a) Financial Assistance to 1. Between the age group
Dependent children - of 18 and 21 years
(b) Maintenance of Orphan 2. Providing destitute,
and Destitute Girls orphan and unattached children
(¢) Foster Care Services 3. Children below the age of
Scheme ' 16 years |
(d) State After-Care Home 4. Children between the age of )
for Boys | 6 and 16 years
@ ® @© @ |
A 2 3 1 4
B) 4 2. 3 1
ey~ 3 4 2 1
D) 2 4 1 3

(E) Answer not known |
Spsramueipern sflures QuTmHsSs. _
(8) @&ripdméED Gppogs@rseg 1. 18 wppid 21 awgss

Hldluyged - @ Ul L euffser
(b) <ysraupp LHYDL SHaTES 2. gsreupm, esel iUl L wHmid
Slpifsener LTLNSSH saflurer &mieurs@hs@ cULPkIEGSE
(c) ety wHmIb LIIIFFLDrﬂLJL{ 3. 16 Guu_@és@ 2 LUl Speuiser

Caaneuser SlLIb.

(d) Agers@sssrar ugrofuy 4. 6 wpmpib 16 LSS 2 UL
@éevld S mleuraer

@ b © @
A 2 3 1 4

(B) 4 9 3 1

C) 3 4 2 1

D) 2 4 1 3
&

(E)

Men Qg flweledrenay
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102. As per the Tamilnadu Economic Survey of 2024-2025. Arrange the

' followiiig' in the ascending order based on the productivity.

(i) Pa(.idy.pr't)ductivity

.(2) Maize productivity ,

| (3) 0il seeds, Groundnut and Sugarcane pr_oductixiity
W0 e e
® B @ O

© @ @ ©

® B O @

(E) Answer not known

2024-2025 <yib yemerw HOPHHETEH Qummermgmy %ulm@éﬁma;uﬂm Lilg,
eigdsr_ 2 pusPsHomens Qurpss  Geareumearaupern  gmieuflevsude
auflenaliL(DSGIBIGET. | | | ‘ :
(1) Gpé o pusSsBer
(2) wasTEGemerd 2 HLSHSEHDE

(B  aanQenmis alsgiss6T, HassLm@ LHYID SHOL| &mugﬁlgﬁm&r
@ ®» @ o
® & @ O
© @ @ ©

e O
(E) efer Qsflweldama
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103. Find out the Incorrect statement(s) about the Tamilnadu Health
' System Reform Program (TNHSRP)

(i) This program was supported by World Bank. |
(i) This program is sponsored by the Central and ' State
Government in the ratio of 60 : 40.
(1i1) It is implemented by the Department of Health and Family
Welfare of Tamilnadu on Program for Results basis.
(@v) This program aims to achieve the geal of SDG 9.
(A) (1) and (1i1) only B) Gi) and (1i1) only
\(Q/ (ii) and (iv) only - (D) (iii) only
(E) Answer not known |

SODBTEH a'ra;rrg,my SjeLLIL §rr§@g,g,§, L ib (TNHSRP) u,rp,@u_l Seupmer

gapflenar s Hs.

0
()
| (1i1)
()

(A)
©

'@gﬁl'_ngﬁrj)@ 2 & Uk 576 &aﬂéséﬂdsm)gj.

Qb5 Hibd wsHu wrhle sirsmssgre 60 : 40 erenm aﬂa‘;@gﬁm
uu.Jearurr|_® Béused cuprisiiLGEDS.

Qb5 Wy SligLiueLulled SIDOGS Qu_gﬁmm SO\LDBTL g 6hr
&STSMLD HYID GOLOL BOSEI®DWITED Qswdu@SsL LGS DG

- @bs Hi_Lib SDG 9 g @essns @{ml_@.lmg,cg,rrésa;mrra; QsrerT(Hererg).

@) wpgd (i) e G - (B) (i) wpgw (i) o Gib.

(ii) wppid (iv) wGid D) (iii) wr G

(E) flanL_ Qzflwuelédrene
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104. Assertion [A] : In 1892, Tremenheere report was accepted by the

Government for increasing the income of the
Government, to allot the poramboke land to
down trodden community. |

Reéson [R] : In Chengalpet, the Panchamer Schools were run

by the Philanthropic individuals in Panchami
Land for promoting Education for downtrodden
' community people. |

\}Kf [A] is true [R] is false

(B) Both [A] and [R] are true and [R] is the correct explanation
of [A] ‘
(C) [A]is false [R] is true
(D) Both [A] and [R] are true but [R] is not the correct explanation
of [A] _ |
(E) Answer not known
gapm [A] i oige, ypblunse Heomisamer g;ﬂ%’p(&,g;lllﬁ_lLL spsSHHE
“ \ - apri@esear  eaumbeors  pflar  HlE  eumeumulanar
Qumss Qsrarerord eaardp 1892-b  yawerLw
drQueradi siflsmsuiiemar ghmsCemeadrg|.
sryenrd [R] : wafls Crub&Es BUTEET STPSSILLL saps osalar
- soellllener Cubu@sgib Qurml(® LEpFor udalsamen
QarisoLL 196 2 6ter LEghell Hlomsaid BLsd cubsear.
(A)  [A] &fl [R] saupy
B) [A] wvpmo [R] sf (Smg;uo [R] <ag [A] ufﬂ@jGU)LU_I &ﬂumﬂ efleTéaid
LG
(©) [A] saug [R] & |
D) [A] vpgio [R] efl gemmed [R] parg [A] Waper w sflwrar eferésid
i -v _
(E) &feni G]g,rﬂu.nsﬁ]eba;)@
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105. Identify the incorrectly paired matches :

(1) Lokpal and Lokayuktas Act - — January 16, 2014
_ came into force _

(2) Tamil declared as Classical Language - Oct 10, 2004

(3) Election Commission of India - = Article 324
- (4) National Integration Council in India — 1960

@ (1) and @) WBJ (2) and (4)

(€) (3 and (4) (D) (4) and (1)

- (E) Answer not known

etreupetareupdled seuprs QumrmgsLiLl Hdereupen sem_Hs.

(1) Gersumed whpid Card epuissT s Lib —  sgareufl 16, 2014
‘ BEL_ (P& eUbHS &TeLD _ '
(2) s Q&6 wmwrs SifleflEsriLL L g - c9{&33C8L._,rr1_|r'r 10, 2004
(3) @pdus Csise S @ETLILD . -  slruf9fley 324
(4) Qidwu Caélw @@lﬁjaﬂmmuq et  — 1960
A) (1) wpgid (3) B) (2) wpgid (4)
(©) ) wppid (4) (D) (4) wpgid (1)

(E) elenr QsfweQerena

106. The purpose of “Surya Ghar Muft Bijli Yojana” is

- Installing roof top solar =
“B) Providing Houses to the poor
(C) Insurance to old age people
(D) Financing to small industries
(E) Answer not known |

‘& &7 el 19g8lell Cuimggan” ereimp L gair @(I‘_F)WBS&SLDITGGTQ]

(A) e psmarseier @R gefl Wlaremyn Bmejeug
B) geoypserssrar oSHser QULPMIG6Ug)
(©) awsy apCsrmastar smSEH QULPTEI&6UG
D) adw Qg,ﬁ@ﬁ)&ﬁﬁﬁ)@&;@éS@ B4 eupriiEeug
(E) e Qg,lﬂmaﬂsbma)
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107. Assertion [A]

Reason [R]

. Zamindari system was created by the East India

Company when in 1793. Lord Cornwallis entered

into permanent settlement.

Under the settlement, the landlords were

declared full properties' large areas of land.

(A) [A] is true, [R] is false

(B) [Alis false, [R] is true

(C) Both [A] and [R] are false

\(DT" Both [A] and [R] are true, but [R] is the correct explaﬁation

of [A]

(E) Answer not known

~apm [A]

smyewrid [R] -

1793 & anremeumedlen IE]UQQQGBT Hpsdpdu  cuamflss

&peda <" Hufeir &L | sy ml P

Qameir(HeurLiL L g

b d)muﬂmncb \Sergmigser wsSer
CY BLODS CCY oS

o fMenwwrerigenmas shsemer idleilsss0s e _arf.

@) [A] s, [R] soup

B)  [A] seugs, [R] &

(C) . [A] wpmwd [R] @Uco%r@m Saum

(D) [A] wpmd [R] @rasr@n s, parmed [R], [A] e sflwmer eflarésid
(E) el Qsflwelerena |

CCSEIVGT/2025
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108. Assertion [A] : Goods and Services Tax in India is a

comprehensive, multistage, destination-based tax

that is lévied on every value addition.

Reason [R] : The moto is ‘One Tax, One Market, One Nation’.

@)

S

©)
(D)

®)

[A] is true, but [R] is false

Both [A] and [R] are true; and [R] is the correct explanation
of [A] |

.[A] is false, [R] is true

Both [A] and [R] are true, but [R] is not the correct explanation

of [A] is correct

Answer not known

gapm [A] D @pdureiler srs@ wHmb Crmer aflwrarg aAfeurar,

ue®  ugblooseid Qaosg iglumiudd  geaiteumm
wELILE gl ger Curg eldssiiupEns.

smyend [R] . @ser Crrésn “@Cr aifl, @Gy shems, @Gy BB 2p@Lb.
(A)  [A] of, syeme> [R] oy
- (B)  [A] wpgid [R] @ran@w srﬂ; womd [R] ererug [A] psrar sfwrer

feréaib 9GLD .

(C) [A] saugy, [R] &

D) [A] wpgw [R] @ran@id s, eyermed [R] aemug [A] edpsrar s
erdsd e [A] GI'G'GTl_ng.B:Iﬂ

(E) e Qsfweldeana
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109. Arr_ange the following Finance Ministers of Tamil Nadu according to
the Budget Year (Chronological Order) |

1.  Mr. Paneerselvam
2. Dr. Nedunchezhiyan -

'_ 3. | Mr. Palanivel Thiagarajan
4. Mr. Thangam Thennarasu
A 1 2 3 4
B 4 3 2 1

& 2 1 3 4

@ 1 4 2 3

(E) Answer.not known

SpssaL. gOlpErh B mwsFismer Seuiseflar LGyl %GUUTG’O)L
St wrs Qarar® sroeufamsliLyg efl@ssiu(éss.

1. . ueraiit Qgeeud

% Lk OpGH Qe wer
3. A®. upaiGae Aursygen
4. | . srsb Qgerans

Aa 1 2 3 4

B) 4 3 .2 i

@ 2 1 3 4

- 1 4 2 3

(E) ofen s flueieoene

CCSEIVGT/2025 82 B O



110. Assertion [A] : The plan period 1966 — 69 were called as “Annual

plans or plan holiday”.

Reason [R] :  Because of the two major conflicts with China and
Pakistan. 7
(A) .[A] is true, [R] is false

(B)

Both [A] and [R] are true, but [R] is not a correct explanation
of [A] |

W Both [A] and [R] are true, but [R] is the correct explanation

D)

of [A]

[A] is false, [R] is true

(E) Answer not kpown

VESL'IJ')QJ [A] : 1966 — 69 ﬁLLé&IGSH'GDLb ‘G S b dwg S

A pens sreibd” erar é{mlrpé;asuu@aﬁ]mgj.

STyeTLD [R] . gQaraflléd &arm OB LTSagTaiL 6 gHulL @rer(

(A)

(B).
©

(D)
(E)

- Quilu Curgaser.
(Al of. Rl pam _
[A]-ywb [R]-wb &fl, gpammed [R], [A] efparer sflwunar eferssvimen -

[Al-yn [R]-b &, %Gzrrrreb [R] erémug  [A] eApsmer sflumar
elleT&sLmELD |

[A] seum, [R] &f

aSlenL Qg,rﬂ@aﬁ]sbma)
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111. Statement: Thiruvalluvar has captured certain features like pridé
and administration of the Three Great Kings
(Moovendhar) in his couplets. ' '

Reason : Thiruvalluvar wanted to portray the administrative
skills of Kings. '

(A) Both Statement and Reason are correct
(B) Reason is incorrect but Statement is correct
(C) Both Statement and Reason are incorrect
VPY~ Statement is incorrect but Reason is correct
" (E) Answer not known

sadm : sllpssded aurpps apCeapsiseiar QUman < &5 SHod
updl @m fo sHmsSHsEmar WWLOHCL FHmHeudTEheur Sog|
GpLunssafley shglerermi.

SyeRTLD : perenisefiar o f5  Spd  UpHL  sEHSSES@EE
gap Couam(Hb eTend SH(mSlarTir. '

A) smpmy smyed @rawHin s

B) smamd seuy e sapy &l

(© Sl ETFeRTLD Qran@o saup

D) smpy seum <pamed sryad &

(E) e QsNweldene -

112. Give the chapter 'No.v | _in Thirukkural that talks about
Ascetic Virtues. : o :

A) 18 B 13

©) 12 (D) 16

(E) Answer not known

Smé@mafler amwpgierer gpeaupeiwed dHarrsder eramenans GDILiGHS.
4) 18 (B) 13 R
C€) 12 | D) 16

(E) Aol AgMwaldama J |
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113. Who is the author of “Valluvarum Kuralum”?

(A)
\BS

©)
(D)

(E)

Tamilannal

Ki.Aa.Pe. Vishwanatham
Ra.Pi. Sethupillai
Thiru.Vi. Kalyanasuhdaram

Answer not known

“aueT@peu(hld @GDEhD” arap Hredler AR

(A)
(B)
©
- (D)
(E)

&0\ Lp e emTEd

&.<2,.0u. elsFeupnsid
gr.9. GeglLu9eraner
(.6, s6dlwimen FHS T
efen Gz Mwielerened

114. Who was the first to draw the portrait of Thiruvalluvar?

A)

Venkata Krishna Pandithar

\kB( Venugopala Sharma -

©
D)
(E)

Saminatha Sharma
Vannacharaba Dheetchithar

Answer not known

S meuatEneuir 2 (meusdean (pgen (sl @elluons eumrbgei

(A)
(B)
©)
(D)
(E)

CourtisL & (mo6iq6mTLIGHTI &IT

GeugmiGamuimed &irom
FmblBNg &om
uamemEyL S

sen AsMwicicdene
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115. Choose the right matches.

1)
@)
®)
4

(A)

©
(D)

(E)-

New Ihdia —
Thesapakthan —
Nava Sakthi -
The Hindu -
(1) and (2) are cori‘éct

(2) and (3) are correct

: (3)’and (4) are correct

(1) and (4) are correct

Answer not known

silurer @evameni ser_Ms.

(1)
@
®
)

Q)

®)

©
D)
(E)

fu @pfur -
Gssusser  —
‘II)G)_I&BS‘Q '.,_ /
Q‘J@EQ RTINS
(1) wppid (@) of

(@) wpg (3) of

(3)' Lomgjm (4) =M

(1) wpgid> (4) %rﬂ

ellen QsMwelldrenay

CCSEIVGT/2025

| Bharathi

V.V. Subramanian
Thiru. V. Kalyanasundaram

G. Subramaniam

_ umy@umr;r

au.Gau. &G pwerfluer
glm.ef. sdlwrensbsrbd

G. su9rwenflwib
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| ~116. Which of the following statements are trﬁe about the Theosophical

Movement?

@)

(1)

(i) |

)
ey

(E)

The Theosophicgl society was founded by Madam Blavatsky -
and Col. H.S. Olcott in New York.

In 1888 Mrs. Annie BéSant joined the societ& in India.
The headquarters of .the .so‘ciety in Adyar.

() and (i) - (B) (i) and (i)

Gy and GiD) -, (D) (i) only

Answer not known

Gyibo@prer Fenu LiHHIw &lﬂ@n@o‘r amsduiisamer Cgirey Qeuis.

@

CoLd Gemmaidvd wpmd sitarw  H.S. epwsm  oHGumgTed

- Arbweprear seu Hlupuirisdle CambmiefsaiiLi L g

(ii) ’
| (iii)
@)
©
(B)

1888- @5§IMHQS]GD SjenaflQugaT SjbewwrT G Gamabsmir.

@6 saWLIGD QFaTamar e Wmhed 2 6Terg). .

() wpgin (i) - (B) (i) wpgus (i)

(1) whHmd (ii1) e | (D) (i1) v

e Osflwelerere
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117. Assertion [A] E.V.R. Periyar started the Self-Respect Movement

1n 1925.

Reason [R] ¢ New India was the official Newspaper of the

Self-Respect Movement.

A [A]is true, but [R] is false

(B)

©)
(D)

Both [A] and [R] are true, .and [R] is the correct "explanation :

of [A]

[A] is false, [R] is true

Both [A] and [R] are true, but [R] is not th,e correct explanation

of [A] is correct

(E) Answer not known
apm [A] : 1925—@6'1) m.Geu.gr  QuAlwmi ErmmfﬂﬁJnmg) @u_lésas‘é,mg,g-
‘ Qs ermi. |
smgenrd [R] @ swwfurews @Qusssfer  oifemryien  Qsludssmer
Py, @pHur @i, |
(A)  [A] o e [R] soup
- (B) [A] wpmpw [R] @ryas’ur@@érﬂ, LHmILL [R] erarugl [A] Weyen w sflwner
aferdaid o -
(© [Al saup, [R] &
D) [A] wppo [R] @rean@w &, e [R] ererug [A]l eneniw

(E)

sflwrar clerésnee eramug &

elenL Qg flweldene
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118. Consider the following statements and,.Identify the wrong answers

(1) On 1st September 1798 Major Bannerman served an
ultimatum directing Kattabomman to see him at
Palayamkottai. ) '

(2) Kattabomman’s Fort 500 feet long and 300 feet broad -was

: constructed entlrely of Mud.

(3) On September 16, 1799 Veera Pandiya Kattabomman was
| tried before an assembly of Palayakkarars at Kayatar.

(4) On 1st June, 1799 Kattabomman attended by 500 men,
proceeded to Sivagangai.

(A) (1)iswrong - B) (2)is 'Wrong N |

JZ)/ (1) and (3) are wrong =~ (D) (2) and (4) are wrong

(E) Answer not known ' ' |

Epsam_ smpnismar sHSH0 Qaram(H seuprear el amw serL .

1)

(2)

3

(4)

(A)
©)
(E)

1798 Qsui_ibur, 1 e{a'ﬂgj @mgr‘r uneriGer gearenars asLQQumbmdn
ureerwhGer e W spdé@buy @nd assfsams ollHelssmir.

s Qumbwefler Cam e 500 <y persdad 300 =g elascog,ﬁ@jm
P (PeuGID WaTentlarmed &L LIl iq(HHSSI

1799 QsuLbur 16 @{GUT[QJ LnerGoer &L QUTDLEET SWSSTH)
eraTg LG urremerrua;a;rrr;rra;m amq_uﬂ@‘r_r)g, S@aude eflemrenent
QaEwigmr.

1799 egoen 1 @{mgn BSI_I_@LJITLDLDGUT 500 L& (@THL_6HT Aausitiens
C&ermmir. _

D ocow gop B) (©2) 0o saip
(1) womid (3) W Eb Seug) D) (2) wpmd (4) v b seup
elenL Qgfuwiederana |
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119. Which of the following statements are true?

(1) Congress boycotted the election which was held in 1923 in

. Ch.en'nai.

2) Swaréj Party won li seats.
| (3) dJustice Party fofmed Ministry in Chennai.

(4) Kamaraj led the Non-Co-operation fnoverﬁent in Chennai.
(A) (1), (4) are correct | (B) (1), (2) ére correct

(C) (1)’, (3_)v are correct S \éﬂf (D), (2),‘(3) are correct
(E) Answer not known} |

sflunar airsAlumsamas Opfle Qeis.

(1) smdyev 48, i923@ Qeemanamuiler BLbs Coisame Unssamisss.
@) ST a;-Laii @Lmsele Qapd AuDDS.

3) Q&s&rménu_‘ﬁd) ﬁg,lqsr_@ DADDEFFTEE SIDOSHSI

(4) * smoyTegi Qedteranude @g@mgmmm @masg,g,@m Q.II(.Q(I‘_BLQSQGMI"H‘T.
@ @,@ amum@ B) (1), (2) sflwreng

© (), @) sfuna D )@, @ sfunas

(E) e&flevr Qsflweferena
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120. Match the following :

(a) Karaikkal Ammaiyar

: (b) Andal

(¢) Aranganadha Mudaliyar

- 1. Thiruvantddi
2. Kachhikalambagam

3.  Pavaippattu

_(d) Seraman Perumal Nayanar 4. Moothathiruppathigangal

a)
- ®)
e

(D)

(2 (b) (0
2 3 1
3 1 2
4 3 2
1 2 3

@

N N

(E) ‘Answer not known

psasamaupenpls QUTmSEs :

(a) srerssTD DLW

(b) | <@L TET

(c) auréw;(r_r;rfg,’ psewumt

(d) Geomer QuepLomer ;r,rru.mfrrr'r

VN
(B)
©)
(D)

(B

(a)

2
3
4
1

clenL Qg flwelidene

3

1
3
2

- (©

1

2
.2

(d)

= s

L. - dmeupsrd

2. &&E&EHOIDLISLD
3.  umeelium{

4. @ggﬁ@uugﬁamasm
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121 Which of the following statements are true about Sivakalai
excavation? -

(1) Sivakalai excavation located in North shore of river
- Thamiraparani.

(1)) Tamil society lived in Sivakalai cons1dered very ancient.
(i) Copper and gold goods are found.
“(A) () only - (B) (i) and (iii) only
V€ () and (i) only (D) (iii) only
(E) Answer not known |
Epsar  feusmer  sPTLE|  euTsHugHd Qun®§§mnm 'ugﬁema)
G5 H&sa L.
(1) Housever DEPTLIG] gn@uug@uﬂ éc;,ﬂ),rﬂaﬂ ULEGS  s@ruied

S| LOBFIGTETS).
(i) Aasmart ueHled arpss sODRE Fapsid Ldlasuulc.pmmmrrsmg,rra;‘
- s@sLUEEDS.
(111) Qsny whyd srssHorar QUTGETsET QhiE S ss11ALDDS.
(A @) brEb F - (B) @) wpmib (iid) &M
(C) @) whmb (ii) &M - (D) (iii) wrEb &

(E) & Qsfweidwena

122. What is the crucial role played by noncoding RNA’s?

(A) encode for proteins (B) replications
Vee)‘ gene regulation (D) carbohydrate synthesis

(E) Answer not known ' ‘
@Muirs RNA (NCRNA) —_— WPSAWL UkiE S ng) ? |
)  urssSpsner GHluTEsD B) G958 |
(©) wruey sC_ELILTE ' (D). ariCGurenan Gy QsmELi
(E) e QsRweicranad
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123. Choose the right matches among the following :

(1) Five Kingdom System . — - R.H. Whittaker

(2) Six Kingdom System ~ —  Carl Woese, et al

(3) Four Kingdom System —  Carl Linnaeus

(4) Three Kingdom System ~ —  Ernst Haeckel

(A) (1) only correct VB (1), (2) and (4) are correct
. (C) (1) and (2) are correct (D) (1), (2) and (3) are correct

(E) Answer not known

ghlwrer @enemanuis sHerLHls :

(1) mbses c@aiun® - —  R.H. eélcms@asi

(2) <pes euamstiur@ : — e Qeuudd), w.u.

(3) pra@s eumslLT® = e earGarwien

(4) epapes uamsiuTp = eiQarevl QapsGae

(A) (1) wr@Eb &M B) (1), (2) wpmd (4) sfwrereneu

(C) (1) wpmid (2) &rﬂu__lrrsvrq)m - (D) (1), (2) womwb (3) sNwrareme
(E) eflerL Qg,lﬂu_l'aﬁld)msvl '

124. 0.10 M of weak acid is found to be dlssomated to the extent of 1.20%
at 25°C. Its d1ss001at10n constant is

(A) 1.44x10° (B) 1.44 x 104
O 1.44% 107 (D) 1.44 x 10

(E) Answer not known

010 M. Qedeyerw euedlenwo @mmpg Sfle sMIFD 25°C-a 1. 20% QfNens
SiwLpg erafled, Nflens mn@c&uﬁ]m Y. [T

(A) 1.44x10° ‘ (B) 1.44x10™
(C) 1.44x10° | (D) 1.44 x 10*
(E) elen Qsflwelerene
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125. The GSLV-F15 is launched on | | Ey ISRO.

&()’ January 29, 2025

B March .08, 2025

(C) .January 29, 2024 -

(D) March 08, 20_24 |

(E) .Answer not known

ISRO—QJM’D GSLV-F15 yr&QsL qmuuu_pg‘,]mm
(A)  garaifl 29, 2025

(B) tonis 08, 2025

©) mara 29, 2024

(D) Lor_ms; 08, 2024

(E) ol QsNwederena

CCSEIVGT/2025 ' 64



'126. Which of thé following is incorrectly matched? -

(1)

Trans Siberian Railway line -

.('2) Trans Caspian Railway line —

(3) Canadian Pacific Railway line —

(4) Trans-Continental Railway -

(E)

line |

Answer not known

It connects -Baltic Sea and
Pacific Ocean

It connects Central Asia
and Japan |

It connects Atlantic Ocean
and Indian Ocean

- It connects Buenos Aires
‘with Valparaiso

(B) (2) only
D) (4) only

SpadT_aubnIT 6Tgl FeupTs QUTHHE 2 6rerg) ?

@

()

.(3)

(4)

@)
- ©
(B)

qyreren angL9iflwiesr

@@uyuurens

g eiTen srevLSuies
Qauylurens
&GBaumiq Wi NERE
OGNS )Y

q-JeiTey &mebrig O eureL_ b

OGN INTNINT = F:

(1) wrEb
(3) w_@b
eden Gz Mwelerena

65

@5 urrei)mrés‘&LémuuLb, L89S
QupRISL_maW|LD @enandsdng

@8 wsHu Auteaid

suLreaTu b @enearsdng)

@& S onaiy s

- Qu@nsL@maub, @Su

Qu(BEISL MU @)aarsdna

@al ngg’u QJWITE
B&TE®SWL|LD aureLerGavr
B&TSMSL{LD @mmé&ﬂmg-

(B). (2) wipid
(D) (4) wipid

CCSEIVGT/2025
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127. th among the following was the Indian Prime Minister when the
42rd Amendment Act was passed?

(A) Jawaharlal Nehru (B) V.P. Singh
Indira Gandhi (D) Morarji Desai
(E) Answer not known

@bslu srsewinfer 42-2y618) Q@gg& & L1b @asrrem@ emjuuu_(ﬁurrgj |
@ pdHwire e lﬁ]ryg)LoUna; @@(r_rgg,mrr WITiT 2
(A) gaaniared Cpr (B) &9.9. A

(C) @ndrrenss | (D) Qumymied Cgemis
(E) . e QsNwelerana '. |

128. Assertion [A] : The Pallavas constructed -the Cave terhples
without brick, wood, metal and sudhai. °

Reason [R] : 'Th_e stones kept one upon another and not bound
with plaster is known as “Katraligal”. -

(A) [A] true, but [R] false
- (B) [A] false but [R] true -
\4€J Both [A] and [R] are true
- (D) Both [A] and [R] are false
(E) Answer not known

saphm [A] © Le@esET, Wy, sy, o Carsd, Gsmsd Gumerp
&L (HILomerLl CumpeTsaT @m,r_f)]a; GDLGUTE
Caraflevaamer 2 (Heursderi. .
smyenrd [R] 3 v&@masﬂ)assmm @arflanGod @amns Gsds  samaid
Gaigamod &L OUEL  &ULLESERSEGS  spHpafse’
ereom QL. JS

A) [A] sl gyamme [R] seun
(B) [Al soup e [R] o
(©  [A] oo [R] @renGid o

D) [A] wpmw [R] @remr@id seumy
(E) e Qsfluielerene
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129. Choose the'wfong pair :

o

@
3
@)

@)

©
(E)

South Dravidan .Lan'guage

East Dravidan Language

Central Dravidan Language

North Dravidan Language

M
©

Answer not known

SeIDTET @lanaureniids Ser(HLlig..

(1)

)

©G)

@
@

©)
(E)

Qg,etr‘é,]jrraﬁll_ QLDW@ —
Sip& ﬂqrreﬁ]p Qmgl —
BHSSrmell Gomfl —

auLSlymefl. Qomg —

K&

3

elen Qzflweloena

67

_  Malayalam
— Munda’
—  Telugu

- Kuruk

B (@)

) @

 LDEHEWITEITLD

apairLT
Csgitis
&

® @
®) @

CCSEIVGT/2025
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130. Assertion [A]_ : Rabindranath Tagore surrendered his knighthood.

Reason [R] : On 13th April 1919, Jalianwala Bagh Massacre

‘occurred in Amritsar.

(A) [A] True [R] False
y Both’ [A] and [R] are true and [R] 1s the correct explanation
of [A] |
(C) [A]is False [R] is True

' (D) Both [A] and [R] are tr.ue but_ [R] is_not the correct explanation
of [A] | |

(E) Answer not known

s [A] D @reShETnTs srent sang i’ LLLS@SE SIS

sryenrd [R] . 13 gured 1919 eufiigerev paifle spmeSlwen eumeTLITE

LEAsTEO® FOLLIALDHDS.
@) [A] o [R] som
(B) [A] wpmo [R] of, [R] [A] uﬂ@ml._ubarﬂu_lrrem aﬂmg;m'
© [A] o [R] o |
D) [A] wppo [R] ol epeme [R], [A] dgiew sfiurer ferdsind®

(E) o&en QsNwelerane
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131, Assertion [A] :  The Indian National Congréss First Conference

convened on 28t December 1885 in Bombay.

‘Reason [R] . Tamil Nadu “region represented and. attend
21 members.
(A) [A]is true but [R] is false
(B) Both [A] and [R] are t.r.ue and [R] is the correct explénation
of [A] | |
(C) [A] s false [R] is true

' \JD’)/ Both [A] and [R] are true but [R] is not the correct explanation

of [A] is correct
(E) Answer not known
gapm [A] D @pdwu Cadlw a;rrmaagéwsz}r , @g,s’u LIBTEH
1885 yewui 28 <> Cd LbUTGD g wig). |
smyenrd [R] D sOPBTE u@@uﬂ]@@g@ 21 CGuir sebg Gasnaf&rL_mfr.
(@A) mpy [A] &l gyame smemd [R] gap
B) smop [A] wppd smamd [R] QW’N@L‘D é‘fﬁ wppib spm [A] elpe
STFGATLD [R] sfwnar eflanésionEib | | s
©) = [A] peug srems [R] s

D) &pm [A] wHmibd smyenrd [R] &l eyanmdd STamTid [R] sgpm [A] Aps

sflwrer eflenéswde ererug &l

(E) oferr QsRwedérena

103 ;e - 69 . CCSEIVGT/2025
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132. Whlch of the following statements are true about the Indus

' Clvﬂlsatlon"
(1) In the 1920s Martimer Wheeler excavated the Harappan sites.
(1) The longest text has about twenty six signs.
(111) . The term “Meluhha” in thé Prakrit inscriptions refers fo the
Indus region.
(i&) The “Prjest King” of steatite was discovered in Mohenjo-Daro.
(A} @) and (ii).only
B) () and (iii) only
(C) (i) and (iii) only
PJ (i) and (iv) only
~(E) Answer not known
Apg prefsn @Gilss Qeraumnd gmbhnsed renel 2 @TEDLTETE ?
(1) 1920sefe mnﬁqmr"r dia aprriur ugdsafle SISPTLIG|GET BLSS .
(1) s ferwrarsres a;@g,uu@u) aTWssSAsTLT 26 @D smers
, Qs menT(HeTerg. :
(i) Gyrdms s00a Gaollé Qu)gu&;rr aan Qend Apg LGH@ws
GM&Epg). S | -
"(iV) ‘ dpLeLGm_L sOdld mopBs “LsGH rFen  CQwrseresTCrTeld
BT [HEsUILLLg).
@A) (@) wpgd (i) v o
(B) @ whpgid (1ii) wrEid
(O (1) wpgid (1) wr G
D) (i) wpgd> (iv) @b
(E)

eflen Qs iflwiellévena

'CCSEIVGT/2025 0 ' 0



133. The correct statements on the New Chlef Electlon Commissioner of

India are: |
(1) Gyanesh Kumar took charge as the 26th Chief Election
Commissioner of India on February 19t 2025. '
(1)) He is a Kerala cadre of the Ind1an Administrative Serv1ce in
the 1989 batch. -
- (iii)) He has been responsible for handling various departments as
the secretary to the government of Kerala.
(A) @) only |
VB (@) and (iii) only
(C) (i) and (i) only
(D) (1)) and (iii) only
(E) Answer not known

HSwgrs ug,@fﬂ(%uﬂ)gjmm QB s (Sg,rrg,a) <2, ETWI G L] um@m
&rﬂumarr éRlﬂ)QJHSGITI‘I’GUT@J

4
(ii)
(iii)

(A
(B)
©)
D)
(E)

@nGarey  @wmrr  Gugeufl 19, 2025 ey @pdHurefen |
266@ s@a®ws Csized manurrst QurmiGubDT. |

et 1989 gyib e @pHu <t A1 Lienflufen Garar 9fay gl
<pemir.

Garyer ipfler Qrwereryrs LOCan s®DEmaTs SWm@HD GQurmienL
Sjeult eudlFglemermir.

(1) LIMCT
(1) womb (i) Wb E
(i) wpmibd (ii) wrEid

(ii) wpmib (iii) - wrEb

Aol Qsfluciome

71 | CCSEIVGT/2025
[Turn over



134. Match the following :

(a)

(b).

©

(d)

(B)
©
D)
(E)

Name of the Act

Consumer Protection Rules
Drug Control Act -

The moﬁopolies and
Restrictive Trade Practice Act

Goods and Services Sales Act
@ ® © @
2 3 4 1
3 1 2 4
1 3 - -4 2
4.~ 1. -2 . 8

Answer not known

Epsar_superpls QUT(HSSIS.

(a)
®
©

FLLgdlar GQuiwi

gja;f;r@mrrr'r LS e ser
LD@{_B@J& sU_(Huum® FLLb

gaGuns wHYI S-HrUm_{H

QUTSSHSH B (LPENDHSHET FL_L LD

(d)

@
B

©

QurmLser ellhLenerd s L b
@ b © @
2 3 4 1
3 1 2 4
1 3 4 2
4.1 278

(D)
- (E)

cllenL Gz fwelidvane

_CCSEIVGT/2025 12

Enacted year

1930
1987

1950

1969

@ubmuuLL %m@
1930

1987

. 1950
. 1969



~ 135. Consider the Assertion [A] and Reason [R]

Assertion [A] : Supreme court judges are to be appointed by the
President. '
Reason [R] : In the case of appointment of the Judges the

Law Minister of India shall always be consulted.

(A) Both [A] and [R] are true and [R] is the correct explanation
of [A]

(B) Both [A] and [R] are true but [R]‘ 1s not a corréc‘t explanation
of [A] o |

{0y [A] is true but [R] is false
(D) [A] is false but [R] is true

(E) Answer not known

: 83@?5@ [A] wpmid sryed [R] elemene smg)s.

smsal [A] | @qmn&r‘&, sl o sepdoam  fHufsmer  Huwend
Qe mmi. ‘
smpewtd [R] @ BHuflsevar - Hwwand  Qeuiwyib Qumpg gL

S|MLDFFM LD a;so(rjr,g)rr@eoné]ésa; Geuar@ILb.
A [A] LD’rj)QJLb‘ [R] @rer@w &M LDj_f)QJLb [R] ererug [A] ssrer sfwmar
aNerdaid
(B) [A].m;j)ng'[R] Qe s yemed [R] aarug [A] War sfwrer
- dllerésn @i S :
(C) [A] &l gyame [R] seup
D) [A] seupy spemmed [R] &

| (E) e Ggfwefcdrena

e - | 73 . CCSEIVGT/2025
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136. Arrénge in chronological order on Inter-State council
(1) Punchhi Commission
(2) Rajamannar Commission
(3) Sarkaria Commission
(4) Venkatachaliah Commission
Q) ), ®,2),Q1)
B) 2),1),4),3)
© @@,

VBT @, 3, @, 1)

(E) Answer not known

rhlens@ErsdaLCuwrer @pdssamear asrra)mrﬂmsuuq RUEGUASSD.
(D) yaned CIC)
2) @Urrgmmmr'rrfr &Y

(3) &r’résasrrrﬂqur &W

(4) QeurasL Q&d)@a)mrr &W
@ 3),®,0,0

B @, 1), ®,O

©) @),®),3), D

D 2,03),®, 0
(E) e Qsflweldene

CCSEIVGT/2025 ' 74



137. Choose the right match :

(1)

(2)

3

@

@

(E)

Retirement age of the

- Supreme Court Judge

Minimum age for contesting
for the President of India

Minimum age for becoming

Rajya Sabha member

Minimum age for becoming

Lok Sabha member
(1) and (3) are correct (B)
(2) and (3) are correct (D)

Answer not known

sflurer @earerws Csfle) Cewis

(1) o455 ﬁﬁmmp ;Bg‘,]u@ RUI6] aILg)

-

3

(4)

(A)

©)
(E)

@bHu Grwrs gmeeurr GCsirgadd

- Bibugparer GoppEULE aILIG

Cuweameu 2 mribenns GomnEsLL&
GUWIg)

e 2 pridanrs
GSODHSLLF eIl

(1) wpmd (3) efwrareney
(2) wpybd (3) sNwrerena
allen Gz flweilcensy

75

- 60 years

. 35 years
30 years

21 years

(1) and (2) are correct

(3) and (4) are correct

60
35

30

21

(B) (1) wppid (2) sfunaneas
(D) (3) wpmid (4) sAwrarereu

CCSEIVGT/2025
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138. Arrange the following in chronological order :
1. Bharat Rétna
2. Padma Vibhushan.
3. | Padma Sri
4. Padma Bhushan
A 2,31,4
B 1,2,4,3
O 4,3,2,1
D) 3,1,4,2

(E) AnsWer not known

Gereumd elpgisaer srwafamsiiug eflasiubss)s.
1. s TSeT
2. ugb efljayer
3. LgLoLaf
| 4.  usw %La%m
A 2,3,1,4 ‘
(B 1,2,4,3
€ 4,3,2,1 |
(D) 3,1,4,2

(E) e Qsflucierenad

CCSEIVGT/2025 | 76



139. Match the foil_owing :

(a) Himachal Pradesh
- (b) Ra'jasthan'
(c) West Bengal
(d) The Andaman and
Nicobar Islands
@ ® © @
v 4 3 1 2
B 2 4 1 3
©C 3 1 2 4
D) 1 2 4 3
(E) Answer not known -
'QUW@(&;@]&_:‘

(a)
(b)
()
(d)

(A)
(B)
(©)

(D)

(E)

Name of the States

“wrbleokiger QUi

gurésarl 195Csebd
@Ungdug,rrsﬁ
Cuoh@ eumismarid

S BSLOME LHmILD

B&Camuir Seysar
@ ® @© @
4 3 - .2
2 4 1 3
3 1 2 4
1 2 4 3
SlenL Qg,xﬂu@ﬁ]d)mcu_

-l L

=W e

77

States in Part
N .

D
B
C

rBlonsEr @HEEGD LGS
A

D
B
C

CCSEIVGT/2025
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140. P and Q can dd a piece of work in 20 days and 40 days respectively.‘
- They started the work together and Q left after some days of work
and P finished the remaining work in 8 days. After how many days

from the start did Q leave?

(A) 9days
(B) 10 days
M '8 days
(D) 11 days

(E) Answer not known

P opgid Q @fCunt g Cauemwew wponGu 20 womb 40 .(rj;nLaserﬂsb
WPILILT. DeUTSET @) (HEU(HD RETDTS »C’S&r'r;r_'r)gj (Seu‘as)a)mu_.t Qg,rrl_réjé;]mfr. Ha
prigdr Came Qsig Gng Q et Osame@dpmr.  Bseperer
GouamaeniL .P eraruieur 8 prisefld (iysfpmi erafled Q(QSH’LFEJ@U.I(QG&@(IB@]
TEs@E BTLsEHEEG 9DE Q Comaamw el (& QeeTm i ?
(A) 9'r_r>rrL'_asc'ﬁ
(B) 10 BT &eT

- (C) 8 prisdr
D) 11 preser

(E) el QsMweeranay

CCSEIVGT/2025 8 - T3



141.

Divide Rs. 2,602 between A and B, so that the amount of A at the
end of 6 years is equal to the amount of B at the end of 8 years,
compound interest being at 4% per annum.

(A) Rs. 1,300, Rs. 1,252 (B) Rs. 1,452, Rs. 1,150

(©) Rs. 1,302, Rs. 1,300 JB7 Rs. 1,352, Rs. 1,250

(E) Answer not known

2ITOESG 4% lHailipuie 6 aupLhsald A §& daLs@h Qsreswnag)

8 aunpLiseiieo B a1 Qsmanss@és swors @Qme@n el @ 2,602

A wpmid Barr LIBI@&SET

A) @ 1,300, m. 1,252 B) . 1,452, . 1,150
C) . 1,302, 5. 1,300 . (D) em. 1,352, em. 1,250
(E) oo Osfueidme ‘

142. Find the simplé interest on Rs. 68,000 at 16%% per annum for
9 months. | |
\/(K)' Rs. 8,500 | (B) Rs. 8,000
(C) Rs. 9,400 | (D) Rs. 9,100

(E) Answer not known

._ . 68,0005@ 9 wrshisenss 16—3% umL el ly MfzsHd safl eulig

SHTGI0TS.
(A) . 8,500 o (B) em. 8,000
(C) . 9,400 | (D) ew. 9,100

(E) el Qsflwedcrancw

79 - CCSEIVGT/2025
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148. If a: b.= 3:7andb:c=17:6, then Find the ratio between c and a
A 1:2 - (B) 3:6

©) 6:7 | v 2:1

(E) Answer not known
a:b=3:Twpyb b:c=7:6 eale c LHHD @ Qoupdler N&gD srams.

A 1:2 : : (B) 3:6
©) 6:7 D) 2:1
(B) dfer Qsflueildeme

- 144. The i‘atio of two numbers is 3 : 4 and H.C.F is 4. Their L.C.M. is

w5 48 (B) 38
© 58 D) 68
(E) Answer not known

Qrar® ecransefler eldlsid 3 4 Cuaib ger 15.0ume wHuy 4 eafed
Siemeusafler L5.8.p. :

&) 48 - (B 38

(C) 58 N (D) 68

(B) een QsNweldene :

145. A number x is divisible by 13. When this number is divided by
16, 24, 32 it leaves a remainder 6 in each case. The least value of

- x1is : |
W 390 - - (B) 391
(C) 389 | | (D) 392

(E) Answer not known

RO Tar X g 13 e auguBbd. Qbs eraw 16, 24 LoHHID 32 1)
QUGHGLD @urrgj @m@@m@ weopub 158 6 deoLsdng erafléd x e WOs&HHw

Y3 W |
(A) 390 , (B) 391
(C) 389 | - (D) 392

(E) ofenr QsNwelerened

CCSEIVGT/2025 : 80 | - T}



146. There are 80 students in a class. If 25% are absent on a particnlar

day. Find the number of students present in the class. :
(A) 10 - \ABY | 60
) 30 o D) %
(E) Answer not known |

e aEio 80 wrareaiser o detant. @n GOUALL prefld 25% Guir
aumpensLflueiome eaier eumes Uflbs Lorremajr'rasaﬂdsf ereRTEnilSanE e s

SeirL_HlwieyLb.
@) 10 s (B 60
©) 30 R S D25

J. (E) e Qzsfwelcrena

147.

The ratio of boys and girls in a. class is 5 : 3. If 16% of boys and
8% of girls failed in an examination, then find the percentage of
passed students

\,(k)/87% SR . (B) 13%

C) 84% - (D) 92%
(E) Answer not known |
QR QJ@UIE]@MTGIT LOMTGHTGU T&ET LDﬁ)gij wrameilsafier  elélgb S 1 3 y@Lb.

@ Gsieildr 16% wrameaiise@pd, 8% wranela@yd Coisd Qupaidame
aafled Carédl Quibp wrewreu — wravelsafler sseissmss ETaTs.

A 87% P (B) 13%
C) 84% (D) 92%
(E) oo Qsflweicrenad |

81 CCSEIVGT/2025
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148. Find the sum of
1+3+5+---+ 55

A) 700 | \B) 784
(C) 555 - (D) 550
(E) Answer not known _ |

Qg m_iflewr ain@g,d) SIS .
1+3+5+--+ 55 |
(A) 700 s (B) 784

(C) 555 a (D) 550
(E) oenr Qs flweildee

149. The next term.ih the given sequence is
0, 2, 24, 252, 3120,

A) 42450 46650
(C) 38450 | (D) 44650
(E) Answer not known | :

&G Qasrr@aasuuL_@men Qgmir eurﬂmacuﬁlm QU(MHLD aq@gg 2 MLy
0, 2, 24, 252, 3120, |

" (A) 42450 - |  (B) 46650
(C) 38450 (D) 44650
(E) oeni leﬂu_jaﬁ]eua)w |

~ 150. In the series
4 6412287421538 _ ;
how many pairs of successive numbers have a difference of 2 each?

~ (A), One " (B) Two
\€)" Three | " (D) Four

(E) Answer not known

Qbs OsTLiiss eramsafie

6412287421538 _ -

Qran® AsHunssans 2 L aanselld assmar @QmaNsET 2 areTean?
Q)  gem o B) @ran®

©)  epamy | (D) prene
(E) ofeni Qg,rﬂu_naﬁ]evmeu ”

CCSEIVGT/2025 82 T - Re,



151. A d1ce is thrown four tlmes and its four dlfferent pos1t10ns are given
below

Find the number on the face opposite the face showing 2.
a4 . ® 5

€ 6 | . (D3
" (E) Answer not known

@m useL 4 wap 2 GlLOu@b Curg g 4 Caupurl ﬁmma;m ECy
G]a;rr@asasuuL@mmm

GlalcicR

2-6n Grglrr L&&OTE QY HESGD TERTERTS &HTeiTs.

@A) 4 . @B 5
© 6 - . (D) 3
(E) e Qsfweldeme

152. Find the missing term of the sequence :

7,12, 19, 24, 43, .91
@A) 50 . @®) 45
48 ~ (D) 63

- (E) Answer not known
Qarit euflensuled o erer @S]@uu_ CTERTEN GRS & ITEHTS.

7,12, 19, 24, 43, 91 |
A 50 . (@B 45
(C) 48 - D) 63

(E) e QsfNweldeme )

o | 88 CCSEIVGT/2025
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153. Identify the correct answer.

Assertion [A]

Reason [R]

Space MAITRI is a collaborative space mission
between India and Australia.
India aims to lower the cost of access to space

through this mission.

A) Both [A] and. [R] are correct and [R] is the correct explanation

for [A]

(B) Both [A] and [R] are correct, but [R] is. not the correct

explanation for [A]
\(,@7‘ [A] is correct but [R] is wrong
(D) [A] is wrong but [R] is correct

(E) Answer not known

Filwimeor aﬂszs)L_és)u_! Caib0s (HdsHeLb.

spm [A]

smyenrd [R]

oCLiei MAITRI GTETLIg) @pSwr LD;j)Qij
<edCrellwreinEg QerwWorar smUO  Marteef
Sl L ib. .

Q&S L_sslen eLp@OLD damQeselissrar  Sigmise
Oeaellemar @b GoDEs Tamandng.

@A) [A] wppd [R] sACu, Gogid [R] eewg [A] dpsmer sfurer

aflem& &M@ b

(B) [A] wpmd [R] e, <parred [R] erarug [A] elpsrer sflwrer eflerésin

96DV

(C) [A] #ACu, c%arrrrcbw[R] 6

D) [Al souy pamed [R] af
(E) &ler Qsfweldene

CCSEIVGT/2025
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154, Which of the following statemeﬁt(s)- is/are true about the

agricultural cultivation of 2021-2022 in Tamilnadu?

@)
(i1)
| (iii)

(A)
(©
(E)

Mayiladuthurai District involved more Paddy cultivation in

Tamilnadu.

Perambalur District  involved more Maize cultivation in -

Tamilnadu.

Kallakurichi involved more Sugarcane cultivation in

Tamilnadu.
(i) only | (B) (i) and (iii) only
(i) and (ii) only @) (ii) and (iii) only

Answer not known

Gemeupeuameupdledr 2021-2022-1b  y&mged sSOPHM e  CeuarTamano

#M@LIECWTH QST W 2 GTenoWwNar sohmi(&EeT) Tana/wTenel ?

(1)

muﬁ]@n@@mmuﬁ]@.g@@‘r_wuq_@w sfsorer url9éd Qped  sTELIg

Qscu'JuJuuL'_l_gu.

(11)
(iii)

A)
©)

Gupbugrfie  suWlppm gGe  dawrs — wssTEGsTETD  FTELIG

Qe L g.

seTerEEHEA 6 slpET kG  Sfsors  smLY  ETEULY

| Qaliwiiul L g. |
@) e @b |  B) () whm (i) o @b
(i) oppid (i) e G (D) (i) wppid (i) 1o

- (E) aﬁ]sml_lggqﬂmaﬁ]d)mw

8 CCSEIVGT/2025
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155. Identify the correct answer after understanding the Assertion and

the Reason. o
Assertion [A] :. As per the Economic Survey of Tamilnadu
2024-2025 the Urban inflation in Tamilnadu is
coming down from 6% in 2019-2020 to 4.5% in
2024-2025. While rural inflation is static at 5.4%.
Reason [R] : It is mainly due to the Governments’ policy on the
Tamilnadu Public Distribution System and other
“income support schemes like, Kalignar Mahalir
Urimai Thittam and hundred days employment
guarantee schemes.
(A) [A]is true- [R] is false
Both [A] and [R] are true and [R] is the correct explanatlon of [A]
(C) [A]is false [R] is true
- (D) Both [A] and [R] are true but -[R] is not the correct explanation
~ of [A] - - |
(E) Answer not known
Sadm LOHMID asrrrjmrg,mg; BETHTS qrﬂpg QsmawL Qer sflwmer G)S]QDI_@DU_I
CsiibOF[H&sEa L. -
sapm [A] : g@@phl;qsﬁr 2024-2025 Qummermsmy <ieuBlsasude
' ™ SOPHT e paiiyp uemelssnd 2019-2020 @b
amged 6% mpg 2024-2025 < yawrged 4.5%
<56 GODHE sTamLGEDg. 65 Crrssed Symoliyw
. uemeigaid 5.4% eramp ldssHed Hlenewins o ererg.
smpawrd [R] @ Q& wsfluwrs epsmissdanmd Siwou@Ss QUi
. slpprH  Cumg @S]LB](Zqura;g, S wHmDd FHMOEHT
waefliT 2 flenws S L b wHHID Hrm Brer Ceueneveumiiiny
o gdlgeung b Curery Gp - cu@pwrer  YFTeyd
S Lmsermed ghuBE DG : '
A) [A] &f [R] gy . |
(B) [A] wpgid [R] &M wpmb [R] <@g [A] Wy w sflurear eflerésid
' BB
- (C). [A] sauy [R] & Lo
(D) [A] opgw [R] s geme [R] <arg [A] eyt w sflwrar ederésid
SO _ .
(E) &9 Qzfweléene

CCSEIVGT/2025 | 8 . » | | 0



156. Assertion [A] : .The “IlNlam Thedi Kalvi” schem-e‘ in Témilnadu

aims to bridge learning gaps among school
students caused by the Covid-19 Pandemic. |

Reason [R] : The scheme involves volunteers providing

remedial education to students at their homes

W Both [A] and [R] are true and [R] is the correct explanatlon

- (B)

©
D)
(E)

of [A] . 4
Both [A] and [R}] ére true but [R] is not the correct explanation
of [A]

[A] is true but [R] is false
[A] is false but [R] is true

Answer not known

spml [A] R CSa;rraS]L-lQ QumpEsTHOT® UeTefl  rameuisefanL Cui

ghudd  sHPd @ Qeslsmens GODLILIDS
Crrésonss Qameam® §L6]I€Q‘I]5m_l.q,61) ‘@aoaid (Sg_r,u}a; soed”
L L1b Q&wmu@gguu@é]m@

smpewrd [R] @1 @bss  HLsdd, searamieuersdr  oreameuiseier

@)

(B)

©
(D)
(E)

diphsEps@GE Qeenm wrHHEHEET Qasrrmm sevellenws
QULPTEIGE D TITSET.

[A] wpmb [R] @rem@id 2 amrenio, Log)gum [R] erarruig [A] & &rﬂwrrasr
erésib

[A] wHmib [R] @@L o @manw, Q%mrra) [R] ererugy [A] & sfiwirer
erssLdebened

[A] 2 amenio parmed [R] seuprang)
[A] seuprang <pammed [R] aflwirang
eflen Gz flweildena

87 CCSEIVGT/2025
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157 Which of the following statement(s) 1s/are true about “The Mandal

Commlssmn Report”‘?

(i) The commission used Three indicators i.e. Social, Educational

and Economic.

(i) In social indicator there were five criteria and educational

1nd1cators there were two crlterla

(i) In economic indicator there were four criteria. Thus there were

11 criteria used in the Mandal Commission Report.

. L |

(A) @) only ~\) (i) and (iii) only
(C) (1) and (ii) only o (D) (i1) and (ii1) only

(E) Answer not known

Wereu(peuareupmier e @ sllager iflsmsCur@ Csrifyerw sflumear
an;'pgu(ésasdT) GTEl/WTeneu ?

(1) @bs YoEMUDIG FApED, &6l HMID Qurr@mrrgmjm GTETD PG
GD ST g senar uumu@gﬁuma@]

(i) swps @ﬁ\qsrrf_tq,uﬁlsb &bl ammea;rrd)as@m HmIb sl @M igufled
Qran® 2lare Camegenn LweaTLhisl Qupmer.

(1i1) Qummerngry GHlsr quie preE SieTeCardser LwEOSS L Lar.
<% Gworgsd 11 c@qmm(ﬁasrréba;dm warLe®  sflege  iflsamsuden
LweTU(HSSLILIL_(HETeTe. | |

@ O oiee ®) () wpps (i) v @w
©) | (1) LoppId (11) wLEb D) (@11) whmib (iii) L_(HiLb

(E) e Qsfluefome
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 158. What was the cause for high inflation in India?
(A) High demand
‘Weaken rupee against the dollar
(C) Low production
(D) Low money supply -
(E) Answer not known

' @5§unaﬁ]m Lameissd FENE QHLILSHSTET STremTiD
A) <=ds Csmeu
B) . Lreom@ss arélymarn LML mguu G®Day
(C) ©@peaurer 2 HLGH
D) Goperar Lar ey
(E) &er Asfueldeame

159. Arrange poverty eradication schemes in chronological order.

1.  National Rural Livelihood Mlssmn
2.  Rajiv Awas Yojana

3.  Bharat Nirman Yojana

4.  National Food Security Scheme

A 1 2 4 3

B 3 1 4 2
Wrs 2 1 4

D) 2 3 4 1
(E) Answer not known

eumiend @LAlLIL| 'L migemer sre @rﬂm&ﬂu@;},@ T(PHIS.
1. Gsélu sarys QUMDEUTSTT [N

2. grgleu yeurav Cuirgart

3. ums ﬁr’rmm’n Cuirggerm

4. - Gzl 2 amey ugsTILS L ib

A 1 2 4 3
B 3 1 4 2
€ 3 2 1 4
@ 2 3 4 1
(E) efer QzMwefcvana

o3 | 89 . CCSEIVGT/2025
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160 Whlch of the followmg is 1ncorrectly paired?

(1) MFAL — Marginal Farmers and Agrlcultural Labourer !
- Development Agency

(2 DPAP - 'Drought Prone Area Programme
3) DDP - 'Diétrict Development Programme
(49 HDA —  Hills Development Agencies
@) Mand (@)

B) (1) and (3)

&) (3)and (4)

D) (2 and 3)

(E) Answer not khown

Gur@pens garep Gaibas058 TWEs.
(1) MFAL - @Qodflee esrd wppnd olesrus sl Qg,n@mmﬂ
R @m@m@mg L ib

(2) DPAP - aprflurd undssiur u@mm U Lib
.(3) DDP —  wralL eerEds g,]r_;m |

() HDA —, mevsols Lgfismear qanBebips AL
@A) (D) g (2) | |

B) (1) wppd (3)

© @ wppp @)

O @ uoppd ()

(B) oo Gsfusidame
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161. Identify the incorrect Acronym :

-
@
®
@

(A)

©)

TSC _‘ o .beal Sanitatianampéign

NIC — Natioﬁél Information Centre

MIS — Management Informafi;n System

IMIS _ Integratéd | Management 'I‘nfrastrvuct}ure
System |

@ @and@ B )@ and (@

(1), (2) .and (4)I ‘ \,(»B)/ (4) only'

Answélj not known -

Weireu(meuameuhmieT Seummer @mamruq TGl ?

(@
(2
3)
(4)

(A4)

(©)

(E)

TSC - W 2L pabd STEGD BLal s

NIC -~ Gpélu gsaud owowd

MIS —  Cueraraing gassusi) PO

IMIS - @ordoarhs C:mcunafmm@ o GT&L L eniotiLy e
(1), @), (3) wopd (4) (B) (1), @) wpp> (3)

(1), ‘(Z)ILDDQJL'D (4)H D) @) s

Aol Qpiucidaned |

91 _CCSEIVGT/2025
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162. Choosé the éorrect pair : |
1. Bombay plan o | -
2. Gandhién plan —
3.  People’s plan o=

4. Sarvodaya plan -

(A) 2 and 3 are correct

\‘.9')/ 1 and 4 are correct

(E) Answer not known

ofuinar Gevaress Coipas0 :
1. LmbGu S ot
2. smpHug S e
3.  &saT S -
4. siGansus b -
(A) 2 wppid 3 s

© 1 uwppis 4 f

(E) eler Qsfwedara

CCSEIVGT/2025 92

1940

1945

1944

1950

(B) 1and 2 are correct

(D) 2 and 4 are correct

1940
1945
1944

1950

B) 1 wppbd 2 &

D) 2 womib 4 &



163. Kokkokka Koompum Paruvaththu Matradhan
Kuththokka Seerththa Itaththu

As Heron with folded wing, so wait in wa1t1ng hour; As Heron snaps
its prey, when fortune smiles, put forth your power - Denotes.

(1)
2)
3)

@

(A)
(B)
ey

D)
(E)

To act like a Heron is incorrect.
You must walt till the T1me Rlpens

This Kural appears in the Chapter t1tled “Therinthu
Thelithal”.

“Vaadiyirukkumaam Kokku” is the phrase best suited to this
Thirukkural. _

(1) - ngh‘p (2) — Wrong  (3) — Wrong (4) - Wrong
(1) —Wrong (2) —Right (3)—Right (4) — Wrong
(1) - Wrong - (2) —Right (3) — Wrong (4) — Right
(1) — Right ‘(2) — Wrong (3) —Right (4) —Right
Answer not known

Q&r&QaTsEs saibLb Lihelbs) LDMH DS 60T
©50s15s &iss HLgs) '
Qé&@pLuneiler &Hég!

(1)
(2)
(3)
4)

A)

(B)
(©)
(D)
(E)

Garéemals Gumery) QswdLB g Seum.
&MELD masah@mg_ﬂ)@é; &15S (h&EE Ceuam(hib. |
@s@per OsMbe0seise Grsbr@]Lb 2glsmrsdler @L b QubmieTaTg.

aJrqu_uS]@as@LorrLo Qars@ erann Qemd @&@nrurelpEL Qurrqbg,g)mrrem
eflen&EDd H(Hib.

(1) — & (2) — seup (3) — g,mgu (4) — seum

D) -pap  (2) - & @-sf  @D-pap
(1) —saup  (2) — & B -sapm (4 s
W-sf  @-sam  (3)—sf (4) — of

aflen Gz flweleene

" 93 | CCSEIVGT/2025
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164. “Manaththodu vaiymai mozhlyln thavaththodu

Thaananj Se1yvaar1n Thalai”.

Statement 1 : Those who speak the TRUTH are always morer

superior than those who practrce charity or

penance.

- Statement 2 : Those who practice charlty and penance are far

better than who speak the TRUTH

\,(Af Statement 1- Correct

(B)
©)
(D)
(E)

Statement 2 — Correct
Statexnent 1 and 2 — Correct
Statement 1 and 2 — Incorrect

Answer not known

“mmg's@g,rr@ aumieno Gwmuier seusQsm® vv

- srangrQews aurflar gane”.

spm 1 . anien CuaLestsdr granbd, geub Qeliueuismer el
SpHFeuTser. |

Faphm 2 'l : aumienoGus Cueﬂmngmﬂ: gnarrm, seud QeuiueuCr Appseulr.

A mppl-sh i SRy

(B) snpp 2— o

C) sapp 1,2-ef

D) epp 1, 2-saup

(E)

ellen QaMweiidana

CCSEIVGT/2025 TS - ol



165. Match the following type :

(a)
(b)
(c)
(d)

a1 2 3
WB 4 3 2
© 4 3 1
1 2 4

Iyotheethass Pandithar
Ramalinga Adigal

Jotiba Phule o

Syed Ahmed Khan

@ ® © @

W N = N

(E) Answer not known

QumrmsgIs.

(@)
(b)
(c)
(d)

@

- ®
©
©)

(E)

SCUTEHFTEL) Ligimg it
Qrrodts ogsdr
Cardlur yGe

MFWIG| FHDF HTeT

@ ® © @
1 2
4
4

3
2
1
1 4

DN W W
W N =

cfler QgMwelicrana

Tahdhip-ul-Akhluq
Gulamgiri

Thiruvarutpa

Ll

Oru Paisa Tamilan

BSA-Qd-Didaid
Gemball

Hwaupun

B W

QR mUETS SLolLpesr

95 E CCSEIVGT/2025_ .
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166. Assertion [A] : K.M. Balasubramanian, author of South Indian

Celebrities compared Dr. C. Natesa Mudaliyar to
Mahathma Gandhi.

Reason [R] : He was the epitome of love, charaétei', tolerance,

, Party.
" (A) [A]is true but [R] is false -
\‘(Bf Both [A] and [R] are true and [R] is the correct explanation
: of [A] N ' '
(C) [A]isfalse [R] is true ‘
- (D) Both [A] and [R] are true but [R] is not the correct explanation
of [A] is correct | | |
(E) Answer not known
mpp [A] :  OsaefpBu Gyuemser (South Indian Celebrities)
| - aa  mredler  yAAwr KM,  uresudpossiiuer,
LrsLi. &, pCLs @sdluneay wWwsTSLT. STHH|L 6
@UAL{H erqpdlermi. - ‘ .
| STyewTLD [R] : Bo&s Sular .@g,umrrasg, depps BOLs  pgellum
SDSTYSGD,  LRTHSGD, [UT®PU@MLMWEGD, &o7s
LDATLILITETELOE@GD T(HSSISHET LIS eflemrhiflerm.
(A) 661.!_1‘)@] [A] oM wyarmed smyenrd [R] seum - )
B) empm [A]l, smemd [R] @Uas'&r@uj gfl  Gued asnuast;rLb [R] gapbm
| [A] e sflwner efergsid <@ Lb. R |
(C) &pm [A] seum srrend [R] &M
D) spm [A] smyenrd. [R] @ran@od &f, e smyeawrd [R] sspm
[A] dvcii- effarsalidene eraig &l | A '
(E) efenr Qsfwelcrana

compromise 'and' he was the heart of Justice
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 167. Which of the following statements are true about Remalinga Adigal?

(i) He said that apart from musical Instruments the mind should

‘unite.
(11) He started night schools for farmers.

(iii) He said that through human charlty one should get full

beneﬁt in life and be one with God.

(A @) only B (i) and '(_iii)- only
(C) () and (ii) only | D | (ii) and (iii) only
(E) Aﬂswey not knoWn | |

- @moadiis _cgmra;afmuu LpOW eThssE HHES) éhmnm@?‘

() @oss smedser géﬂﬁggﬂ mmﬁn ganflé Gadn@id> arenprir.
(i) ‘, Y —— @rey Gy Lisaflevws Qg,rr.l_rmé]m‘r;r'r.., 5

(iii) waflgs Ggrras'm_mj)md) aped  aumpailed Ul uweer Qupm
@epCuT® gern Caud@r@b e,

@ O o : - ® 0 wppuid (i) C @b
(0) (i) m@gm.(ji) mr_@m - (D) (1) whHmbd (1il) wr EL

(E) oflen Qg,rﬂujvaﬁld)m_cu '

- T} | AT 97 CCSEIVGT/2025
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168. Assertion [A] : In 1930 Muthulakshmi Ammaiyar introduced in
the Madras Legislative Council a Bill on the
p_revenﬁon of the dedication of woman of Hindu
temples in the ‘Presidency of Madras’.

Reason [R] =~ : The Bill which later became the Devadasi
Abolition Act, declared the “Pottukattu
Ceremony” Illegal. '

(A) [A] is true but [R] is false
(B) [A] is false but [R] is true

i \’(2)‘ ~ Both [A] and [R] are true and [R] is the correct explanation
of [A] |

'(D) Both [A] and [R] are true but [R] is not the correct explana’tion
of [A] - ' J |
(E) Answer not known
Fapm [A] : ‘1930‘-§i) Qaerenan EI'_I_LDGB'UD(&',QGD. (g)g,gm)t_a& S|benow
- Oserenar wrsransder @bg Carelds@rs@l QuaTsear
‘amiuaissiu@eums  sGLLg”  a@id  wGstgT@er
| Sdpsiiu@sHeri. = '
- smewd [R] @ Qenent Gseausmd @uting s Lions  wmhw @Lb‘m('éérrg,rr‘
| “QuILEs s b siE pLésas  sULsSDEL
| Upburerg aar Siflalsss. b |
A)  [A]l el gyarma [R] saupy |
B) [A] s e [R] o
-~ (C)  [A] wpgid [R] &M Guwguid [R], [A] Wer sflurer eferésib

D) [A] wppo> [R] s wpenred [R], [A] Wen sflumar eflarssioda
(E) o&fen Qsfweldene |

CCSEIVGT/2025 - 98 o



169. Assertion_ [A] : Under the leadership of Rajaji, Congress decided

to.boycot't Simon Commission in Chennai.

Reason [R] :  The Simon Commission had only Whitemen as

members that 1s no Indians.

(A) | [A] is true, [R] is false

(B) Both [A] and [R] are true, and [R] is the correct explanation
of [A] |
\(©~ [A] is false, [R] is true

(D) Both [A] and [R] are trﬁe, and [R] 1s not the correct -
explanation of [A] '

N E) Answer not known

sgapm [A] : Q&drmc_muﬁ]sb @jngr@] samamwuid maar qg)ésasamﬂuqu

- GumpmlLgens BL&S (Pige] Qeliwliul L g

asnrja&rLb [R] : ewawer @@@9&) o mitnQent  Sieareu(HLD demmnu@g,
2Agnag Guailed QrHuCy @Guas)eu
@) [Alsf, Rl g |
(B) [A] womo [R] @rem@w &M, Cogib [R], [A] -er s i efar&sLd
B Y |
() [Al saup, [R] ol |
D) [A] wpgs [R] @rem@w af, Guogaiw [R], [A] -ér sflwrar eferésiodhe

(B) e Qsfweidens

1O | B 99 |  CCSEIVGT/2025
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170. Match the Works/Books with the author’s

(a) Vetriverkai

(b) Nanneri

(©) 'Neethinerivilakam

(d) Nalvazhi

(A)
(B)

(a)
.

1

e s

D)

3

(b)
3

4
4
4

(©)

4
2
2
1

1.

(d)

N = W DN

(E) Answer not known -

. 0 o

Avaiyar
Kumara Kurubarar
Athiveerarama Pandiyar

Duraimangalam Sivaprakasar

&L [redsamer c%b@lﬂufré@ﬁﬂn@ Qun@ggmm.

(a) QeupMGeunens

(b) perQen
© BHGBH arssnd
@ poend

@ ;) ©
@A) 1 3 4
@ 1 4 2
© 3 4 2
D) 3 4. . .1,
(E) . efer Qzfwefdera

CCSEIVGT/2025

1.

N

(d)

N —= W N

100

QETEeUWITIT
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171. Match correctly the Excavated places with their corresponding

Districts.
(a) Azhagankulam 1. Sivagangai
(b) Vasavasamudram 2.  Erode
(c) 'Kodumanal 3, | Kanchipuram,'
- (d) Keezhadi 4. | Ramanathépuram

@ O © @

A) 1 4 3 2
B 4 2 3 1
(C) 3 1 2 4
@4 3 2 1

(E) Answer not known

Qmm@mmeumgjm SIS PEUTTTIEFS BenL-GlLHm 2ETTEHENEIT

v\aeﬁgbr'r

- Si@wbgIETaT LI L gL 6T QUIBEHE ST (s, -
(a) cmgpa;sirr@md; | 1. Housrians '
(b) euseuspsSTid 2 mCym()
(C) Q&ﬁ@mm@ | 3. STEHE L TID
(d) Spig | 4 @UTLHISL LD

@ @® @© @
A 1 4 3 2
B 4 2 3 1
Cc 3 1 2 4
(D) 4 3 2 1
(E) Mer GsAwueloana

0 | 101 CCSEIVGT/2025
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172. Match the dlseases in Column I with the site of 1nfect10us in

Column IT :
Column [
(a) Dengue 1.
(b) Polio myehtls 2.
(c) Measels ,_ 3.
(d) Chicken Pox 4,
(@ ® © (@
wo o2 1 4 3
B) 2 1 3 4
< 2 4 3 1
D) 1 3 2 4

(E) Answer not known "

Column II

Intestine, Brain
Skin and Blood
Respiratory tract and Nervous system

Skin and Respiratory tract

- S1p&sTam b Gg,nua;@m (Column D sigama qmu@m ur@uqas@»muu)

(Column II) QuITBSSIS :

ColumnI -

" (a) AT 1T 1.

(b) @ml_blﬂeﬁmm aumgd 2.

(c) g,l'_l_Lbéa)LD 3.

(d) Aeramderio 4,

@ b @© @
A 2 1 4 -3
B 2 1 3 4
© 2 4 3 1
D 1 3 2 4

(E) ol Qsfweidae

CCSEIVGT/2025

Column II

GL-, epaenaT

Cara, Grssid

GEUMFLILIMTGNS, BLDL| LOGRTL VLD

Ggmed, seUMELILITMS

102 | | , e



-173. Assertion [A] : Cobalt-60 is useful in Cancer therapy.
Reason ‘[R] : Cobalt-60 is source of y - radiations capable of
| killing cancerous cells.

( Both [A] and [R] are correct and the [R]‘ is a correct
explanation of the [A]

(B) Both [A] and [R] are correct but the [R] is not a correct
- explanation of the [A] :

(C) [A] is correct but [R] is incorrect
(D) Both [A] and [R] are incorrect
(E) Answer not known

sapm [A] ! Gamumér—60 LHmCETL AFemeulier LweTLHHDS.

smyaob [R] @ Gamumér—60 smor-sdiseflear  apobrs  Qeudur()
LUbDICrmi Qeorsamer &S aUDF). '

(A) [A] wpmib [R] &M Guguid [R] araug) [A] ssmar sfwune aAandid

B) [A] wpgd [R] efl <wpeme [R] eremug [A] ssrer sfwrer eferésid
@eane . | | .

(©)  [A] 5 e [R] pap
D) [A] wppid [R] @ranG> seump
(E) ool Qsfweldene

174. In Tamil Nadu, Vidiyal Payanam Scheme introduced in the

month of |
\,(Kf May, 2021 e | (B) December, 2021
- (C) March, 2022 ' (D) October, 2021

(E) Answer not known
BOPBT G, afliqwed Lwerd b ertiCung SN PSEILOSSIIL LG >
(A) G, 2021 (B) genur, 2021

(C) i, 2022 (D) =aCLmur, 2021
(E) &l Qzflwelcrene '

10 TR 103 |  CCSEIVGT/2025
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175. Assertioh [A] : Climate, Relief, Soil and Natural resources are

| influencing the dlstr1but10n of populatlon
| -R,e_éson [R] : | Birth and death rate _does not Aaffect the
| | distribution of population. ’
\jk)' [A] is true, but [R] is false
(B) [A]is false, but [R] is true

(C) " Both [A] and [R] are true, and [R] is the correct explanatlon ‘
“of [A]

| (D) Both [A] and [R] are true, but [R] 1s not the correct explanatlon
of [A]

(B) Answer not kno_Wn

ampy [A] - 1 sreflow, ﬁsug(ﬁgrrmmm & wHpD Gubas UGTTAIS 6T
- : Gurenpeneu LD&SET | Agrenals LIFalened
-a;;@uu@ggaﬁ]m,mm o |
&yeRTD [R] Do dpoy, @poy aﬁ]és]gmwsm LO&ESET @grra»a;u LIFeuene.
‘ ' - undléseileae.

.' @) [Al s, <@ [R] soupy
(B [Al saup, game [R] e

‘ (C) [A] whHmbd [R] @rer@pw &, mmgjm [R] Grmugj [A] ssmen &r‘ﬂu.:rran

NeT&sLD-

(D) [A] wpmb [R] @raw@n &M, %arrrsu [R] ererug [A] Werr sRwmen
| dfleréaEd @eana
(E)  efenL Qafweldeme

CCSEIVGT/2025 ‘ 104 o L3



176. Match the following :

Shifting cultivation Region
(a) }Ladar'lg 1. Malaysia
() Milpa 2. Vietnam
(© Roca 3. Brazil
| (d). Ray 4. Mexico

w14 3 2
“® 3 4 1 2
© 4 2 3 1
‘® 2 3 4 1

(E) Answer not known

&g’g_a;.deL_@Jﬂ)m,m QurmESIs

- @LuQuuwirey GauaTmamanio: uGdH
(a) cuufnsj | | 1.. wCaAwr
(b) uS]si)ufr :2. efwi Brmid
(c) Cyméem 3.  ¥GGréé

| 4

(d) Gy Qu&eflGsim

@ b © @
@ 1 4

3 2
® 3 4 1 2
© 4 2 3 1
D 2 3 4 1

(E) ofenr QsfNwelcena

Ko . 105 .~ CCSEIVGT/2025
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"177. Match the following :

Author : Work -
'(a) Amoghavarsha 1 Mahapuraha
(b). Jinasena 2. Kavirajamarga
(© Guriabhadra 3. Kadambari
(d) Bana | 4. Adipurana
@ @O @© @
A 2 4 3 1
B 2 4 1 3
© 2 3 4 1
D) 2 3 1 4
(E) Answer not known
Spssam_eupearpll QUIBSSIS.
gpAflut e
(@) <=CGurseuiraw 1. wsmyyreRTd
(b)  BenGearit | 2. as@ﬂqrrgmrrr’ré;a;m
(c) GETLUSIT 3. a&mgbu
(d) umewri 4.  <ydyyrewrid

@ ® © @
A 2 4 3
B) 2 4 1
© 2 3 4
® 2 3 1
(E) ofer Ggfwefdara

N e
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178. Which of the following statements are true about Velu Nachiyar?

(i) Velu Nachiyar was the daughtevr‘ of Chellamuthu Sethupathi,

King of Sivagangai.

(1) Velu Nachiyar’s husband was assassinated by the Nawab
i Ariny and to attack the Nawab and British. She joined with
- Gopal Naicker and Hyder Ali. |

(iii) In 1790, she died due to illness. -
A (i) only (B () and (iii)
(C) (@) and (i) (D) (i) and (iii)
- (E) Answer not known
Ep&HEeRmL a'a,f_f)_gjasaﬂd) Gm@]‘r_r,rréé]u_lrrr'r ubl TG/ eTenau sfunanee?
(@) Cagprédwurt Heuskians éme;.r;rrrm Qeoowss Cogiuduier waer
| c%@ﬂﬁ. | R B
() Gmg‘r_r,rr#é]mmﬂéifr — paumder UL seTmed Q$W®@DHLL§W®
Y EECowmrs Srd@b G‘r_r,rresasg,gu_m Ga;rrurra) ;_r,rru.nasasrr MADSIT 2460
- FACUTEHLGET Fnl L el &mmgg,rrrr '

(ii1) Gmgy‘mrre‘reﬂu_urrr'r Cg‘mrru,rj)gj 1790 -@e @,r_r)‘r_'r,g,rrr'r.'

@ @ wces (B () wpp (i)
©) () wppis (i) (D) (i) wpgi> (iii)
(E) oQenr Qs flwueldene )

03 | 107 L CCSEIVGT/2025
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179. Which of the following points were accepted in Gandhi-Irwin Pact?

0
(i)

(111)
(iv)
A)
;)]
©)
(D)
. (B)

People allowed to make salt for their consumption.

Not releasing the political prlsoners who had not indulged in |
violence. ' -

Permitted picketing of foreign cloth shops.

Reduced the death sentence of Bhagat Singh and his Comrades.
(i) and (i) only | |
&) and Gily orly

(i1) and (iii) only

(i1) and (v) only‘

Answer not known

Spsar_euper aThH-Gieler @ULBSEHD GHHSASTETETILL L DbsmsGE

GTEM G ?

(i) 2 U s LWETUTLREES 2 HusS Qs SIS ILE.

(11) mm@mmﬁm FOULTES <ipflwed eamsdsmer Qsriibg Sepule
- eneulIug). :

(1) eipfus gjmﬂe;mm Ah@b seoLseller e LT BES@ET pL5s
@uwdiug. .

(V) ussfm wppd S ng‘@r‘ra;@é;@. AfssLr L e
ST DGEDWIE &DDUILIG]. '

@) ) wpp () v

B) () wpp (iii) w Gud

©) (i) wppid (i) e Gud

(D) (i) wppd> (iv) 10w Gud

(E)

fenL Qg,_rﬂuaﬁ]sba)euﬂ
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180. Consider the following statements and identify the correct answer

(1)

2)

In 1918, Madurai Harvi Mill labours strike happened.

B.B. Wadhiya was the labour union leader of Madurai Harvi
Mill. |

(8) Dr. P. Varadharajulu’s speech was an eye opener to the
 government. |
| (4). Dr. P. Varadharajulu was the Author of “Prabanja Mitran”
- Magazine. |
(4) (1) only - (B) @)only |
O (1), (3) and (4) only D (1), (2 and @ only
(E) Answer not known |

Geeu(meuaTeudmIeT eTenel Fflwimareneu ?

1

(@)

B

(4)

(A)

©
(E)

wgiequdd anriel Bl Gprforeriser 1918-gé Caume Hnisssdld

FF®u|'_|_§m'r.
gy apmied W Qgmhhsnss sameoairts 19.19. @anun‘@@;ﬂsgm’r.

L. 9. eupsrra)  Sjeuiseller  Osmfleomert  uHrey Gués
SfETRSSS 6 sANSmeTs Sn&sd srarToTulHo.

Ll 9. eupsrreey  “GrugsE lL.IS]‘E_'BﬁUGBT” erarn LSS fEamsew
BLSSerri. | '

Do (B) (2) e

(1), (3) wopid (4) WG (D) (1), (2) wppid (3) wLED
adlenL Osflweicrened
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~ 181. False statements about Subhas Chandra Bose are:

(@)

(i1)

(iii)

(A)
(B)

Subhas Chandra Bose was born on 23 January 1897,
in Calcutta, West Bengal

‘The Government of India has declared his b1rthday,

23rd January as ‘Parakram Diwas”.

"To honour of Subhas Chandra Bose’s legacy, 234 J anuary is a
National holiday.

(ii1) only
(1) and (i1) only
(ii) and (iii) only

@ (@) and (i) only

E)

Answer not known

- suney shgly Curenevts LM NereumHd Fmbhniseid geuprearg :

(1)

@)’

(111)

@)
®)
(©)
D)
(E)

FLIMGig EEQU Guimav gareufl 23, 1897 <iarm GuopE mma;rrmg,@m
s0&SsTelled GBS,

@(r_isﬁu <5 cgqeurjgj GBS .pﬁmnm garaufl 23 b Cadarw
“asNu prar” erary oifledssierers.

sgurey  Fhdly C_Surratﬂain urpbuflugens Gurr@gnb cuansudle
garafl 23 b Cs8 Csilw lHpen HremTE.Lb.

(iii) wr i

() wppio (i) wrED
(1) womd (iii) wr @b

(1) wpmbd (ii) I ED

aﬁ]qm_ Qg fwellérana
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182. Match the Presidents lis't‘ed below Wi.t»hi the distinguished guests
who attended the Republic Day celebrations held under their
leadership. ' '

Presidents , Distinguished Guests

(a) Droupadi Murmu 1. Cyril Ramaphosa
(b) AP.J.Abdul Kalam 2. Prabowo Subianto
(¢) Pranab MukherjeeA 3. Vladimir Putin
(d) Ram Nath Kovind 4. Barack Obama

@ B O @
A 1 4 3
VB 2 3 4
C 3 4 1
D) 4 2 -3
(E) Answer not known

= DN = DN

@Lq,u_lrjé Slar allpreiln@ smam udlsss G4 UreEs gmwmmquﬁ é{@.l@l_é"ﬂ
Apuiy A@pdeayrss swbg QararL fphHaranrub QuTmESs ST [H\s.

G4 WITES FEOWUTSET ' oLy eSmheriaer
@) $Greud iy 1. ARd groGumer
(b) q_.ﬂ;cg. I8 0SITLD 2. ﬁ]l}@urrmrr&ﬁ]u'_lrreﬁur@l_rr
() Wyewm s 3. eflemmg i Ly
(d) IITTLb.‘II)rI"é',‘ Careilbs 4. uyTé @umOT

@ ® © @

@ 1. 4 3 2
B) 2 3 4 1
© 3 4 1 2
D) 4 2 3 1
(E) efen Qsflweiicvene .
oS | - | CCSEIVGT/2025
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183. Directorate -of Vigilance and Anti-corruption Tamil Nadu Toll free

No. is :
(1) 1062 and 1963
(@ 1064 and 1965
(3) 1066 and 1967
(4) 1068 and 1969 |
@ @ I e
© | ®@©
(E) AnsWe_r not known  B
 BOPBTE 2ampd SEUIL wHDID mﬁmﬂ}hué gﬂm @ué@mwgﬁm Qoeus
SMLPLIL| GTegr | |
(1) 1062 whpis '1963". -
(2)1 1664 b 1965 |
(3 1066 mmm 1967
(4)' 1068 s 1969
w e O ®0
o0  ®e

(E) &l Qsfweddana '
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184. Find out the correct statements on election
®) ‘In all the states elections EVMS were used in 2003.

(i1))  The commission took a historic’ decision to use only EVMS for
the Lok Sabha election in 2004.

Gii) Two million EVMS were used in this elections.
@ Gonly
~ (B) (i) and (iii) only
@ () and (ii) only

(D) (1) and (i11) only

(E) Answer not knoWh |

Cairger LpMw aflwimar sppis@ars s s.

i) 2003& eoer wrheo Gsisld arssl  ufey @UJ‘I_BQULD.
uu.teirrui@;j,g,m_ll‘_l_gj. o . —

(1) waésaeus = Csigd 20046 amrs@l  uday @ﬁ.:(r_iaﬁr;u’) L [HiLb

 LWETLESSILEID e euFRTHNI (LPlgenal THSSIETETS Y, EERTILD. |

(i) @rew® Weodwer g udea GQuibSybd @pgg Cairgeldd

| LWeTURSSLILLL g |
A) (@) wEn

B) ) wppis (i) 06w
© () wppd i) wocGd
D) (i) wpmw (iii) _LD-L@Lb
(E) 'anL Qsflueddvme

Ly B s ' CCSEIVGT/2025
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185. Choose the right matches :

Committees = - - Chairman

(1) Committee on Panchayat -
Raj Election . — K. Shanthanam

(2) Committee on Rationalisation
of Panchayat statistics —  G. Ramachandran

(3) Committee on Panchayat Raj
Training centres — V.K Rao

(4) Study team on Panchayat Raj

Administration — V. Iswaran
(A) . (1) and (8) are correct \,@Bf (1) and (4) are correct
(©) (2) and (3) are correct | (D) (3) and (4) are correct

(E) Answer not known

érﬂqursur@J,r_f)CZﬂ)rr@ QuTmSSIs

(1)  ugperwss TR Caiised GW — K spgranbd
(2)  ugpemusg grg LEGLIUTDEY | |
 whmib yerteflwed @ —  G. gmosgpfyen
. gy uiH g | _ VK e
4) uegseTwsE TR Hieurss & — V. meveuren
@A) (1) oo (3) wLED sf (B) (1) wppid> (4) o Gid &f

©) () opgd B) we@p &l (D) (3) wpgd (4) W EW &f
(E) e Qzfweldeme '
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- 186. The correct statements on the Directive principles of state policy are

@)
(ii)

(iii)
N
B

©)
)
(B

The Directive pr1nc1ples of the state policy are provided in
Article-36 to 51 of the constitution. '

The framers of the const1tut10n borrowed this 1dea from the

' Spamsh constltutlon

The Directive principles form the soul of thé constitution.
(1) only

(1) and (iii) only

(1) and (ii) only

(11) and (ii1) only

Answer not known

978 euflsm (b @E@@mmgm LBgmeer &rﬂu_lrrm éhffj)ﬂ)rréﬁg,j.

0
@)

(iii)
A)
(B)
©)
- D)
(E)

P auflar Hd Qpdlpamaer a_guul_; 36 s 51 QJGDII SirFmLLILG6

QarHEsLuL (HeTers.

&Usmm.umu 2 haumrsSlueiisdr  Qnbg  fbgmaewu  dourafles

‘SpgenllL b Quibper.

ST mg@asm_@u) Qp@@mmam GTITLIG) gn&mmulﬁlm c%Gtrru:rreurr@ju)
ﬁ)mL®m

@) wpgud (i) 1o Gid

(i) wppi> () we @b

(if) wppb (iii) wr @b

Ao Qsflwueidama
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187. Assertion [A] : Indian constitution is federal in nature.

Reason [R]  : Indian constitution provides dual citizenship like

@)

(B)

er

- United States of America.
[A] is false [R] is true

Both [A] and [R] are true; and [R] is the correct explanation,
of [A]

[A] is true [R] is false

(D) Both [A] and [R] are true but [R] is not the correct explanation
of [A]

(E) -Answer not known

spm [A D @hdu @qqaummmuq . odenL&sD sl Lmlé

SATFwQELIL HELD.
smems [R] : @fu srfuamniy gsdu o@uiss prosd (USA)
| Gune @rieLs Grufioweu aiphiduers.
@) smpy [A] soum smyewd [R] e
B) @mpp [Al wpgw smemd [R]  sfuraae @b, wHpd
 smem [R] sapp [A] ssrar sfluner dlarssioneid

© s [A] & smyems [R] sop

D) smpp [Al wopd smemd [R] sfurame eu@wb, amed smemb
IR] sncbii [A] mg #finims sllorbsaiidoncs s

(E) oot QsMueficdrane |
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188. Assertion [A] : Indian constitution has the qualities of both

rigid and flexible.

Reason [R] . The constitution was amended more than

@

»

100 times without changing the foundations of

the constitution.
[A] is true but [R] is false

Both [A] and [R] are true; and [R] 1s the correct explanation
of [A] '

) [Alis false,but [R] is true
| (D) Both [A] and [R] are true, but [R] is not the correct explanatlon |
- of [A] is correct
(E) Answer not known
ampm [A] QS cgm&mmug Ap&lpd wHmb OBHYPTS SerambEmar
QararT(peTerg).
smyewrid [R]  : @BHu SireamwLilen ¢9{Lq_L'JLI‘GDL_66)lLIi Lorfrrj),mnmcb Q@ gicueny
100 &g Cupul L wrhpriser Glasrraizrr@muﬂul_'_@mmm.'
(A spm [A] &M c%asrrrsb smyewd [R] seumy
B) @pm [A] smewd [R] @uew@w &lﬂu_er&TQDQJ&SGT c%@u) LHMILD
| asmyewrd [R] ahg)gu [A] sarer sflwnar ederssiomEid
(©C)  awmpy [A] seumy @pammed sryanrd [R] &
D) @wopm [A] smern [R] @ran@op  sfurareeuser UG, ETIED
sryentd [R] sapmy [A] ssrer sfwrar eferssid Qdoeme eremug &
(E) oo Ggfwefdvana
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below

— 50to B

189. The reading in a field book are as given
| To C
(in meters)
o 150 .
20t0D — 120
_. 80
30t0E — 50
| From A
The area of the field is '
&) 6550 m?
- (B) 7550 m2
(C) 5750 m2
(D) 5650 m2

(E) Answer not known

fo seremal Lssassd @wuﬁna_rrgl Qmm@mr@] mgﬁﬁqa;m GD&SILIL (D eTerar

— 50 to B

C auany
(LB.I'_I_‘.I:I')
c 150
. 20toD — 120
_ 80
30toE — 50
L £ A W mpal
- Hleogdler _ur}tnucrr‘gq GTETLIZ). '
(A) 655082
(B) 17550 52
(C) 575082
(D). 5650 152

(E) ofler QsRwelidrena
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190. A person d1str1butes his pens among four friends A, B, C and D in

191.

the ratio %%%% then the minimum number of pens that the

person should have is
(A) 23 - ' (B) 55

ey~ 57 o (D) 65

(E) Answer not known

| @euit BHT@DL BETS; BeRTLITSHET A B, C LoHOID D c%éﬂu_lsurra@ NG|

GuanTésamar % i % % S flgrisaildr AHCUTHsHDTT erafled eur

aeusdméa Cauargw Cuerrésefer GSODBSULEF cramaniléamns

@ 23 o (B 55
© 571 D) 65
(E) e Qsfwchdrane

If the ratios formed using the numbers 2, 5, x, 20 are in the same
order of proportlon then the Value of x is

(A) 50 (B) 10

ey 8 | | D) 4

(E) Answer not known

2, 5, x, 20 fu TS <G5  afasule Lwerhss  siewub
cildlgmaser aflflg swwrs @mundar, o ar wiy |

(A) 50 | (B) 10

- (C) 8 - D)4

(E) e Gsflueidena
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192. If the HCF of 108 and 234 is expre331ble of the form 23x -51 then
~ what is the value of x ?

N7 B | ®) 2
© 4 _' M) 5
(E) Answer not known o
108 wppid 234 sy Huapfér BLALGE Qurg m@gﬁmw 93x 51, mm
aug el ercpHamrep x-ar AL| wng?
@A 3 S - B 2
(©) 4 | . D) 5
(B) oo Gsfludoms

193. Find the HCF of the polynomials x’+x*-x+2  and
2x° —5x% +5x - 3. | | |

v(7() x2—x+1 B - (B 3;2_+x—1
© | —7x2+7x—7 | (D) 7x2—7x+‘7 '

(E) Answer not known

x3 + 2 —x+2 Log)gju: 2x3 — 5x? +5x 3 c%és]u_l ucuguguuqas Gesrrmmasefﬂm '.
8.Quir.am. snews. ‘

A) x2_-x-+1 : B) x2+x-1
© -7x2+7x-7 (D) T -Tx+T
(E) a&]mL.QgrﬂuJGﬁ]d)ma)
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194.

195.

Simplify : (471 +472+47%)0x (471 +472 4478,

63 - | 19

(A) 19 _(B) a3

. 21 Y
Jer = O =
- 64 : : 21

(E) Answer not known

smb@s: (A7 +42+4730x @ + 4—2 +473)L,

63, - | 19
@ 2 S e
a1 | E 64
(©) a | _(D)

| 21
(E) &fer QsNwedlcrenew |

The average 'mark of 25 students was found to be 78.4. Later on, it
was found that score of 96 was misread as 69. Find the correct mean
of the marks. ‘

@ 732, \AB) 79.48

©) 78.42 D) 78.24

(E) Answer not known |

25 mn@mr‘re;eiﬂdsr gymail LbﬁL’JQuaﬁrr 78.4. @muE 96 eetp wHliunerg

69 erang SUNISOTE THESLILILL g ST AL L g erafle,
wHuQuans@ssstar sflwirar syrefaws STaTs. '

(A) 177.32 (B) 79.48
(C) 7842 ' (D) 78.24

(B) sfeoL Gpfucioma
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196. D, F, G, H,I and M are 81tting in a row. I and M are in the centre,
and F and D are at the beginning and at the end. G is sitting on the
left of D. Then who is sitting on the rlght of F? '

- H | B) I
© M - DG
(E) Answer not known
D, F, G, H; T vpgip M fCumi euflevswins iwipgerarert. I opmud M
- ACunt ewvwsdad, F opmbd D dCGurt wsdgibd, @ndwurseb
siwipgderant. G eeameir  D-ler @QLgiupsdd  @ibihgieTermi.
Svuguramd F-ér euwgynsded Siwibdmring wmi?
(A) H (B) 1
© M N D) G
(E) ofenr_ Qgrﬂu.:aﬁ]a)ma) | |

1197. If A =26, SUN = 27, then CAT = ? |

A 24 (B) 27
57 (D) 58

(E) Answer not known '
A = 26, SUN = 27, erafléo CAT =7
(A) 24 - B) 27
(C) b7 (D) 58
(E) oo Gzfweildrenay ‘

198. If a#b#c is given, which one of the fbllowing is correct?

(A b#a#c

(B) a,b, c are distinct

C) a=b=c "
W& azcora=c

(E) Answer not known

a#zb#c aans QarH&sLLL Iy BHsTOD Weremeuareuhper ergl &l ?

(A bza=#c ,
B) a,b, c yHumea QeuciGeauprarena
C) a=b=c '

D) a#c sdag a=c
(E) &l QsAweldene
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199. The miSsing term in the given alpha-numeric series is

200.

(E) Answer not known

2X2,7T4,14P 12,23 L 48, ST
(A) 34 H 240 | (B) 34H 144
(C) 30H 100 | (D) 30 H 120

(E) Answer not known

&EC Qar@ésriuLr_Herer . T(Wss Qsr_Mer eAOLLL 2 gy |
2X2,7T4,14P12,231.48, . MR
& 34 H 240 R (B) 34 H 144
(C) 30H 100 | (D) 30 H 120

(E) e Qsfwefdvanew |

Two unbiased dice are rolled once. Find the probability of getting
the product of face value is 4 or the difference of the face value is 5.

1 | BY 5
AT . Y 36
L. 7
© 3 O

36

@ et () @@mu.nrrm ua;ma_a;sif e mLLLUL@D  Qurips (yaasmﬁuq&dﬂsh
Qupssd Loear 4 ooeg ws wHuysaier gfwunsd 5 s QEEs
Bepgsa? - . . -

1 - ' | 5

A) T _(B) =
1 : 7
©) 9 ; | (D) 2

(E) ofenL Qgrﬂu.:aﬁ]cbmm _
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